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1. MA=A

(1) Al 1 & BOXE A mleted

(2 = 11.800 m (WH3=F 10.00 m )
(3) =0| 7.640 m (U3 =0l 574 m )
(4) dH =

> BZE32E(,) = 25 kN/m?
> ASCON ZZ& (r,) = 23  kN/m?
> AR E A} (ry) = 19 kN/m?
2) EQF
> EAL(r) = 19  kN/m?
> WS otE2Zt () = 30.0°
> FSEUAF (Ka) = (1-sin@) / (1+sin@) = 0.333
> 2o HRIBE (r,) = 10 kN/m?

(5) MAXZ

CON'C : fck =24 Mpa
Ec =23,025 Mpa

RE-BAR : fy =300 Mpa
Es =200,000 Mpa

(6) oA e

B ER=MA 7= siA (200770 K)
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3. MODELING
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4. Hgztm

2 HS X z HEHS X z
1 0.000 0.000 11 9.250 0.000
2 0.700 0.000 12 10.200 0.000
3 1.650 0.000 13 10.900 0.000
4 2.600 0.000 14 0.000 3.345
5 3.550 0.000 15 10.900 3.345
6 4.500 0.000 16 0.000 6.690
7 5.450 0.000 17 5.450 6.690
8 6.400 0.000 18 10.900 6.690
9 7.350 0.000 19 10.900 9.140
10 8.300 0.000
5. chH X &l
NO B(m) Hm) | A(m? | (m*) MEMBER
1 2.500 0.9 225 | 25 x 09 % / 12 = 0.151875 13, 14
2 2.500 1 2.5 25 x 1 % / 12 = 0.208333 1~12
3 2.500 0.9 225 | 25 x 09 3% / 12 = 0.151875 17,18
4 1.200 0.9 1.08 [1.200 x 0.9 3 / 12 = 0.072900 15, 16
5 2.500 0.5 125 [2500 x 05 3 / 12 = 0.026042 19
6. SPRING Al AHY (T2DMAZ|Z= siAM 2008 P759)

Kv = Kvo (Bv /0.30)"%*
280000.00 x(  5.431 /03 )7
31903.558  kN/m?

017|A, Kvo= 1/ 03 x a x Eo
= 1/ 0.3 «x 1 x 84000 = 280000.0 kN/m?®

Bv = N 11.8 x 2.500 = 5.431 m

Eo= 2800 - N = 2800 - 30 = 84000 kN/m?
K1 = 31903558 x 1 / 2 x( 0.00 + 0.7 ) = 11166 kN/m
K2 = 31903558 x 1 / 2 x( 0.70 + 0.95 ) = 26320 kKN/m
K3~k11 = 31903558 x 1 / 2 x( 095 + 0.95 ) = 30308 kKN/m
K12 = 31903558 x 1 / 2 x( 0.95 + 0.70 ) = 26320 kN/m
K13 = 31903558 x 1 / 2 x( 0.70 + 0.00 ) = 11166 kN/m

Kh= 1E+10 kN/m



1T+ =EA = - CASE1

PROGRAMO{I A XtZ A&+

(2) AR EelE MTH EAL IH5HE — CASE2
E A 0200 x 19 x 25 = 9500 kN/m
2 B 1.000 x 19 x 2.5 = 47.500 kN/m

SWp=  57.000 kN/m
CASE3

Ql= 033 x{ ( 2 + 09 / 2)x 19 } x 25
= 38.753 kN/m
Q2= 38.753 + 0333 x( 6.690 x 19.0 ) x 25
= 144.572  kN/m
(2) 5 AEh pie(Fo0l )
Q3 = 0.000 kN/m
1.000 x 19.0 ) x 25

x(1.00 x 19.0 +

Q4= 0000 + 0.333
= 31.635 kN/m
3) ARt 5tE CASE4
(1) ME&ee 2235t

(ZtA5tE2 1.0 t/m? 2 At8st= Ao 2 MA E)
Qw= 10.000 x 2.5 = 25000 kN/m
4) Z&5lE - SRSl 2o & CASE5

- ZZ&5E (ofAEEE 80 mm)

2.5

Qa= 0.08 x 23 X
4.600  kN/m



CASES : 3L/40i =&

5) UAM5tE - MRS Eof EE
- CASEG6 : L/40f =& , CASE7 : 2L/40| =& |
Ho=15.0 m ( meteld X|F™2| Ho= 5.0 m2 718 )
W = 10.0 kNf (<M =8 W= 10.0  kNf 2 7F™ )
h=1.0m (22 SHE 1.0 m 2 I8 )
® = tan 7' (1/0.5) = 63.4349
o =0.2 ( o= 0.2 2 JHH - Aol DHENS - SRENHE)
Hr = (1 - po/(tan®)) Ho Hr @ 2tabest =01 (m)
= (1-0.2/ tan(63.4349) ) Ho
= 13.1 m
P =2.455 A W HPS
2tolel At A= 1145.0382 2 g5+,
SDHZIISHIE cn 01AH0ISE | = 1.08 NEEH}
P =2.455 A2/5 W2/3 Hr3/5 |
= 892.501 KNf
Pv. =P x sin & = 892.501 X sin ®
798.277  KNf
892.501 x sin ® x 0.35
(u =tan(20/3) =

=P xsin ® x uy

Ph
279.397  kNf

0.35

)
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h=10n2 & 22

S
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2.000

798.277 / ® X /2

399.139  KkNf/m

279.397 / 1 X /2

139.699  kNf/m

2 L/4, 2L/4, 3L/4 A& =E(CASEZ)ot= 220l Uiotod ZEE Al

399.139

LT

02t
o

6.690

I |
2.000

Load Case 6 : L/4 XI&E0 &&

Load Case 7 : 2L/4 XI&E0 =&

Load Case 8 : 3L/4 XI&E0 =&




ste=x=¢gt

1) A55tE A EA|
CASE1 | FZXZE XE(1H™35E) CASE2 : AR EAL 1X™FE
CASE3 : E ¢ CASE4 : ZIAXIEHsIE(2sts)
CASES5 EZHstE(2Y5HE)

CASE6, CASE7, CASES8 : 2455 — COMBO10IM 5tE =&

(1) =AM 5= ENVELOPE
ENV1 : 1.0 CASE6 OR 1.0 CASE7 OR 1.0 CASES8

(2) 1H5tS + THAER + HM5HE

COMB 1 : 1.2 CASE1,5 + 1.6 CASE2 + 1.6 CASES3 + 1.6 ENVI1

(3) 1H5tE + THAER + &SlE

COMB 2 : 1.2 CASE1,5 + 1.6 CASE2 + 1.6 CASES3 + 1.6 CASE4

(4) 1H5tS + DA ERY + HA5HS

COMB 3 : 0.9 CASE1,5 + 1.6 CASE2 + 1.6 CASES3 + 1.6 ENV1

(6) 1H5IE + THAER + &3tE

COMB 4 : 0.9 CASE1,5 + 1.6 CASE2 + 1.6 CASES3 + 1.6 CASE4

2) AMHESIE HEA

(1) 185tE + DAL

COMB 7 :  CASE1 + CASE2 + CASE3 + CASE4 + ENW1



9. stEM st

1) CASE1 : X = A&

TZ= XS 1 SAP20000H M Aba| 4=
2) CASE2 : AR ENHSE

o

S

S

N~

L‘) A A4 A4 y A4
3) CASE3 : EHEY

Q3= 0.000
Q4= 31.64

57.00

Q2= 144.57
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5) CASE5 :

000°0
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6) CASESG :

7) CASE7 :

7) CASE7 :

LAl 5

~

Mg BMo=

F= (L/4%

399.139

- &> > > > +>139.699

I
2.000

1.725 2.000

LA
A

- &> > >+ +>139.699

2.000
I |

4.450 2.000
I |
5.450 1.000

3= (2L/4X|HE =Alo2 Z omof| 22 )
399.139
>+ > >+ 130.6
| 2.000
7.175 | 2.000 I
5.450 I 1.725 I 2.000 I

99



10. INPUT DATA

b etel d e

2 A5l A

; File E:#Tun2.$2k saved 1-15-02 16:41:28 in Ton-m

ol

SYSTEM
DOF=UX,UZ,RY LENGTH=m FORCE=KN LINES=59

JOINT
1 X=0.000 Y=0.000 Z=0.000
2 X=0.700 Y=0.000 Z=0.000
3  X=1.650 Y=0.000 Z=0.000
4  X=2.600 Y=0.000 7=0.000
5 X=3.550 Y=0.000 Z=0.000
6 X=4.500 Y=0.000 Z=0.000
7 X=5.450 Y=0.000 Z=0.000
8 X=6.400 Y=0.000 Z=0.000
9 X=7.350 Y=0.000 Z=0.000
10 X=8.300 Y=0.000 7=0.000
11 X=9.250 Y=0.000 7=0.000
12 X=10.200 Y=0.000 7=0.000
13 X=10.900 Y=0.000 Z=0.000
14 X=0.000 Y=0.000 7=3.345
15 X=10.900 Y=0.000 7=3.345
16 X=0.000 Y=0.000 7=6.690
17 X=5.450 Y=0.000 7=6.690
18 X=10.900 Y=0.000 7=6.690
19 X=10.900 Y=0.000 7=9.140

RESTRAINT

ADD=1 DOF=U2,R1,R3
ADD=2 DOF=U2,R1,R3
ADD=3 DOF=U2,R1,R3
ADD=4 DOF=U2,R1,R3
ADD=5 DOF=U2,R1,R3
ADD=6 DOF=U2,R1,R3
ADD=7 DOF=U2,R1,R3
ADD=8 DOF=U2,R1,R3
ADD=9 DOF=U2,R1,R3
ADD=10 DOF=U2,R1,R3
ADD=11 DOF=U2,R1,R3
ADD=12 DOF=U2,R1,R3
ADD=13 DOF=U2,R1,R3

PATTERN
NAME=DEFAULT

SPRING
ADD=1  U1=1E+10 U3=11166
ADD=2  U3=26320
ADD=3  U3=30308
ADD=4  U3=30308
ADD=5  U3=30308
ADD=6  U3=30308
ADD=7  U3=30308
ADD=8  U3=30308
ADD=9  U3=30308
ADD=10  U3=30308
ADD=11  U3=30308
ADD=12  U3=26320
ADD=13  U3=11166

MATERIAL



NAME=1FR  IDES=N
T=0 E=2.3025E+07
NAME=2FR  IDES=N
T=0 E=2.3025E+07
NAME=3FR  IDES=N
T=0 E=2.3025E+07
NAME=4FR  IDES=N
T=0 E=2.3025E+07
NAME=5FR  IDES=N
T=0 E=2.3025E+07
NAME=STEEL

NAME=CONC

U=.15
U=.15
U=.15
U=.15
U=.15

P pg
1l 1l

A

A

A:

.00001
.00001
.00001
.00001
.00001

IDES=C M=2.5 W=24.51662

T=0 E=2.3025E+07 U=.15 A=.00001

FRAME SECTION

NAME=1 MAT=1FR WPL=56.250 A=2.250 J=0
NAME=2 MAT=2FR WPL=62.500 A=2.500 J=0
NAME=3 MAT=3FR WPL=56.250 A=2.250 J=0
NAME=4 MAT=4FR WPL=27.000 A=1.080 J=0
NAME=5 MAT=5FR WPL=31.250 A=1.250 J=0
FRAME
1 J=1,2 SEC=2 NSEG=4 ANG=0
2 J=2,3 SEC=2 NSEG=4 ANG=0
3 J=3,4 SEC=2 NSEG=4 ANG=0
4 J=4,5 SEC=2 NSEG=4 ANG=0
5 J=5,6 SEC=2 NSEG=4 ANG=0
6 J=6,7 SEC=2 NSEG=4 ANG=0
7 J=7.,8 SEC=2 NSEG=4 ANG=0
8 J=8,9 SEC=2 NSEG=4 ANG=0
9 J=9,10 SEC=2 NSEG=4 ANG=0
10 J=10,11 SEC=2 NSEG=4 ANG=0
11 J=11,12 SEC=2 NSEG=4 ANG=0
12 J=12,13 SEC=2 NSEG=4 ANG=0
13 J=1,14 SEC=1 NSEG=4 ANG=0
14 J=14,16 SEC=1 NSEG=4 ANG=0
15 J=13,15 SEC=4 NSEG=4 ANG=0
16 J=15,18 SEC=4 NSEG=4 ANG=0
17 J=16,17 SEC=3 NSEG=4 ANG=0
18 J=17,18 SEC=3 NSEG=4 ANG=0
19 J=18,19 SEC=5 NSEG=4 ANG=0
LOAD
NAME=1
TYPE=GRAVITY ELEM=FRAME
ADD=+  UZ=-1
NAME=2
TYPE=DISTRIBUTED SPAN
ADD=17 RD=0,1 UZ=-57.000, -57.000
ADD=18 RD=0,1 UZ=-57.000, -57.000
NAME=3
TYPE=DISTRIBUTED SPAN
ADD=13 RD=0,1 UX=144.570, 91.660
ADD=14 RD=0,1 UX=91.660, 38.750
ADD=19 RD=0,1 UX=31.640, 0
NAME=4

TYPE=DISTRIBUTED SPAN
ADD=17 RD=0,1
ADD=18 RD=0, 1

NAME=5

Uz=-25.000, -25.000
Uz=-25.000, -25.000

TYPE=DISTRIBUTED SPAN
Uz=-0.000, -0.000
Uz=-0.000, -0.000

ADD=2
ADD=3

RD=0,1
RD=0, 1

[oNeoNoNoNo]

IDES=S M=.798142 W=7.833413
T=0 E=2.059396E+08 U=.15 A=.00001

FY=248211.3

.1561875,0
.208333,0

.026042,0

x>
PLRLRR
coooo
cococoo
— =
TR

—_

—_



ADD=4  RD=0,1 UZ=-0.000,
ADD=5  RD=0,1 UZ=-0.000
ADD=6  RD=0,1 UZ=-0.000,
ADD=7  RD=0,1 UZ=-0.000
ADD=8  RD=0,1 UZ=-0.000,
ADD=9  RD=0,1 UZ=-0.000
ADD=10  RD=0,1 UZ=-0.00
ADD=11  RD=0,1 UZ=-0.00
NAME=6

TYPE=DISTRIBUTED SPAN
ADD=17 RD=0.317, 0.683
ADD=17 RD=0.317, 0.683

NAME=7

TYPE=DISTRIBUTED SPAN
ADD=17 RD=0.817, 1.000
ADD=18 RD=0.000, 0.183
ADD=17 RD=0.817, 1.000
ADD=18 RD=0.000, 0.183

NAME=8

TYPE=DISTRIBUTED SPAN
ADD=18 RD=0.317, 0.683
ADD=18 RD=0.317, 0.683

COMBO
NAME=ENVO TYPE=ENVE
LOAD=6 SF=1
LOAD=7 SF=1
LOAD=8 SF=1
NAME=COMB1
LOAD=1 SF
LOAD=2 SF=1.6
LOAD=3 SF=1.6
LOAD=5 SF=1.2
COMB=ENVO  SF=1.6
NAME=COMB2
LOAD=1 SF=1.
LOAD=2 SF=1.
LOAD=3 SF=1.
LOAD=4 SF=1.
LOAD=5 SF=1.
NAME=COMB3
LOAD=1 SF=0.
LOAD=2 SF=1.
LOAD=3 SF=1.
LOAD=5 SF=0.
COMB=ENVO  SF=1.6
NAME=COMB4
LOAD=1 SF
LOAD=2 SF=1.6
LOAD=3 SF=1.6
LOAD=4 SF=1.6
LOAD=5 SF=0.9
NAME=ENV1  TYPE=ENVE
COMB=COMB1 ~ SF=1
COMB=COMB2 ~ SF=1
COMB=COMB3 ~ SF=1
COMB=COMB4  SF=1
NAME=COMB5
LOAD=1 SF=1
LOAD=2 SF=1
LOAD=3 SF=1
LOAD=4 SF=1
LOAD=5 SF=1
COMB=ENVO ~ SF=1

1.2

RNDOOOOON

[(eNe)Ne)N o]

0.9
1
1

END

-0.000
, —0.000
-0.000
, —0.000
-0.000
, —0.000
0, -0.000
0, -0.000

UZ=-399.139, -399.139
UX=139.699, 139.699

UZ=-399.139, -399.139
UZ=-399.139, -399.139
UX=139.699, 139.699
UX=139.699, 139.699

Uz=-399.139, -399.139
UX=139.699, 139.699



1. s M2

11.1 OUTPUT DATA

FRAME
FRAME

ELEMENT

LOAD LOC

ENVO MAX

y
3
5.
7.0E-01
ENVO MIN

y
3
5.
7.0E-01
ENVT MIN

ENVO MAX
0.00

2
4.
7
9.5E-01

ENVO MIN
0.00

2
4.
7
9.5E-01

ENVT MIN
0.00

0.00

FO

187.
187.
187.
187.
187.

154,
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.

RCES

17
17
17

505.
505.
505.
505.
505.

156.
156.
156.
156.
156.

1970.
1983.
1996.
2010.
2023.

1185.
1195.
1204.
1214.
1224.

419.
419.
419.
419.
419.

227 .
227 .
227 .
227 .
227 .

1675.
1693.
1711.
1728.
1746.

1030.
1044.
1057.
1070.
1084.

329.
329.
329.

V2

[oNeNeoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

eoNoNoNoNo) [oNeNoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[N eNo)

V3

[oNeNoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

eoNoloNoNo) [oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

O OO

[ NeNe)

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

[eoNoNoNoNo)

M2

.00
.00
.00

973.
884.
796.
707.
680.

789.
762.
735.
686.
619.

3948.
3602.
3253.
2903.
2647 .

2405.
2197.
1987.
1775.
1562.

680.
626.
572.
518.
464.

619.
519.
420.
320.
221.

2647 .
2320.
2004.
1704.
1401.

1562.
1316.
1050.
762.
470.

464.
398.
331.

M3



2
4.
7
9.5E-01

ENVT MIN
0.00

2
4.
7
9.5E-01

ENVT MIN
0.00

O NN

187.
187.

154,
154.
154,
154,
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154,
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487.
487.
487.
487.
487 .

17
17
17
17
17

09
09
09
09
09

18
18
18
18
18

329.
329.

279.
279.
279.
279.
279.

1364.
1382.
1399.
1417.
1435.

862.
875.
889.
902.
915.

305.
305.
305.
305.
305.

251,
251,
251,
251,
251,

1162.
1180.
1198.
1216.
1234.

699.
712.
725.
739.
752.

306.
306.
306.
306.
306.

183.
183.
183.
183.
183.

1006.
1024.
1042.
1060.
1077.

66

31
31
31
31
31

25
06
87
69

44
80
16
52
88

91
91
91
91
91

88

88
88
88

58
39
20
02
83

[N}

eoNoNoNoNo)

[oNeNoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

.00

.00
.00
.00

.00
.00
.00
.00
.00

.00
.00
.00
.00
.00

[N}

eoNoNoNoNo)

[oNeNeoNoNo] [oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNoNoNo]

.00

.00
.00
.00

.00
.00
.00
.00
.00

.00
.00
.00

00

[N}

eoNoleoNoNo)

[oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNoNoNo]

[oNeNoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

.00

.00
.00
.00

.00
.00
.00
.00
.00

.00
.00
.00

00

.00

265.
199.

221,
142.

64.
-13.
-92.

1401.
1117.
830.
540.
247 .

470.
240.

-231.
—473.

199.
126.

53.
-18.
.21

-9

-92.
.79
.50
.21

-151
-211
271

-330.

247 .
-16.
-283.
-553.
-826.

—473.
-663.
-925.
.23
.67

1191
1461

-9

-164.
-236.
-309.
-382.

-330.
-374.
-418.
.93

-461

-505.

-826.
-1060.
-1239.
-1375.
-1514.

06
49
93
64

08

91

63
12
04
14
40

97
06

.21

10
99

77

91
59
26

60

40
39
07
13
35



ENVT MIN
0.00

2
4.
7
9.5E-01

ENVT MIN
0.00

ENVO MAX
0.00
2.4E-01
4.8E-01
7.1E-01
9.5E-01

ENVO MIN

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154,
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

04
04
04
04
04

17
17
17
17
17

539.
552,
566.
579.
592.

282.
282.
282.
282.
282.

125.
125.
125.
125.
125.

808.
826.
844.
861.
879.

377.
391.
404.
417.
431.

231
231
231
231
231

72.
72.
72.
72.
72.

580.
594.
607 .
.01
634.

621

182.
200.
217.
235.
253.

148.
148.
148.
148.
148.

47
83
19
55
91

.22
.22
.22
.22
.22

75
75
75
75
75

93
29
65

37

29
10
92
73
54

35
35
35
35
35

[eoNoleNoNo)

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNoNoNo]

[oNeNoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

eoNoNoNoNo)

.00
.00
.00
.00
.00

[eoNoleNoNo)

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNe]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

eoNoNoNoNo)

.00
.00
.00
.00
.00

[eoNoNeNoNo)

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

eoNoNoNoNo)

.00
.00
.00
.00
.00

1461

-382.
—449.
-517.
-584.
-624.

-505.
-535.
-570.
-619.
—-668.

1514.
1605.
1700.
1797.
1898.

2264.
2399.
2545
2719.
2897 .

-624.
.89

-641

-659.
-676.
-693.

-668.
-706.
.31

-761

-816.
14

-871

1898.
1949.
2002.
2059.
2119.

2897 .
3004.
3143.
3286.
3433.

-693.
-699.
-704.
-709.
-715.

.67
1656.
1854.
2057 .
2264

09
75
64
76

77
95
13
30
61

60

01
13
25

35

19
86
71

76
02
37
08

61

16
44
72

25
39

22

7
20
87
7
72

03
68

32
48

72
13
54
96
37



10

10

10

10

2
4.
7
9.5E-01

ENVT MIN
0.00

2
4.
7
9.5E-01

ENVT MIN
0.00

O© NN

ENV1 MIN
0.00
2.4E-01

154.
154,
154.
154,
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154,
154.
154.
154,
154.

487 .
487.
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487 .
487 .
487.
487.
487.

188.
188.

17
17
17
17
17

09
09
09
09
09

18
18
18
18
18

04
04

22.
22.
22.
22.
22.

284.
297.
310.
324.
337.

-34.
-16.
13
18.
36.

29.
29.
29.
29.
29.

-28.
-28.
-28.
-28.
-28.

-100.
-86.
-73.
-60.
-46.

—-284.
-267.
-249.
-231.
-213.

-85.
-85.
-85.
-85.
-85.

-131
-131
-131
-131
-131

-483.
-470.
-456.
-443.
-430.

-690.
-673.

79
79
79
79
79

21
57
93
29
65

50

94
75

17
17
17
17
17

.46
.46
.46
.46
.46

59
23
87
52
16

85
04

[N}

[oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNoNoNo] [oNeNoNoNo]

[oNeNeoNoNo]

eoNoNoNoNo) [oNeNeoNoNo]

[eoNoNoNoNo)

[N}

[oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

[eoNoNoNoNe) [oNeNeoNoNo]

eoNoleoNoNo)

[N}

[oNeNeoNoNo] [oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

eoNoNoNoNo) [oNeNeoNoNo]

eoNoleoNoNo)

-871

-906.
.60
-976.
1012.

-941

3491

3621

-715.
-708.
-701.
-695.
-688.

-688.
-668.
-647.
-627.
-607.

-1980.
-1867.
-1757.
-1650.
-1546.

-3562.
-3400.

2119.
2124.
2132.
2143.
2157.

3433.
.82
3554.
.19
3692.

1012.
1019.
1026.
1032.
1039.

2157.
2108.
2062.
2020.
1980.

3692.
3653.
3618.
3588.
3562.

1039.
1008.
-977.
-946.
-915.

14

37

07
72
39
23
25
44
48
39

21



11

11

11

11

12

12

12

12

13

13

2
4.
7
9.5E-01

ENVT MIN
0.00

y
3
5.
7.0E-01
ENVO MIN

y
3
5.
7.0E-01
ENVT MIN

ENVO MAX
0.00
8.4E-01
1.67
2.51
3.35

ENVO MIN
0.00
8.4E-01
1.67

188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

-118.
-118.
-118.
-118.
-118.

-543.
-543.
-543.

04
04
04

43
43
43
43
43

83
83
83

—-655.
-637.
-619.

-151.
-151.
-151.
-151.
-151.

-339.
-339.
-339.
-339.
-339.

-810.
-796.
-783.
-770.
-756.

-219.
-219.
-219.
-219.
-219.

-566.
-566.
-566.
-566.
-566.

~1143.
~1133.
~1123.
~1113.
~1103.

-2017.
-2004.
.04

-1991

-1977.
-1964.

124.
124.
124.
124.
124.

o1
o1
o1

1338.
1320.
1302.
1284.
1267.

22
4
60

32
32
32
32
32

49
49
49
49
49

05
21
36
52
68

29
16

91
79

57
57
57
57
57

.49
.49
.49

eoNoloNoNo)

[ NN

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo] [N e N

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

.00
.00
.00
.00
.00

.00
.00
.00

eoNoNoNoNo)

[N e Ne)

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo] [N e N

[oNeNoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNeoNoNo]

.00
.00
.00
.00
.00

.00
.00
.00

[N e Ne]

eoNoleoNoNo)

[N e Ne)

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

[oNeNoNoNo]

.00
.00
.00

.00
.00
.00
.00
.00

.00
.00
.00

3242.
3089.
2939.

-607.
.49

-571

-535.
-499.
-463.

-915.
-834.
-753.
-672.
-592.

1546.
1355.
1168.
-983.
-787.

2939.
2624
2312.
2005.
1716.

-463.
—-425.
-387.
—-294.
-195.

-592.
-514.
-446.
-378.
-310.

-787.
.75

-561

-337.
-116.
103.

1716.
1425.
1152.
-880.
-610.

973.
868.
764.
660.
556.

789.
687.
584.

54
04
77

38

61
72
84

06

64
92
21

60
73
04
51
95

77
04
54
27
44

84
46
08
81
67

21
16
15
14
32

95

85
24
07

44
33
00
39
81

02
85
68
52
35

93
18
43



13

13

14

14

14

14

15

15

15

15

2.51
3.35

ENVT MAX
0.00
8.4E-01
1.67
2.51
3.35

ENV1 MIN
0.00
8.4E-01
1.67
2.51
3.35

ENVO MAX
0.00
8.4E-01
1.67
2.51
3.35

ENVO MIN
0.00
8.4E-01
1.67
2.51
3.35

ENVT MAX
0.00
8.4E-01
1.67
2.51
3.35

ENV1 MIN
0.00
8.4E-01
1.67
2.51
3.35

ENVO MAX
0.00
8.4E-01
1.67
2.51
3.35

ENVO MIN
0.00
8.4E-01
1.67
2.51
3.35

ENVT MAX
0.00
8.4E-01
1.67
2.51
3.35

ENVT MIN
0.00

8.4E-01

-543.
-543.

-1228.
-1185.
-1143.
.06

1101

-1058.

-2119.
-2063.
-2006.
-1950.
-1893.

-118.
-118.
-118.
-118.
-118.

-543.
-543.
—-543.
—-543.
—-543.

-1058.
-1016.
-974.
-931.
-889.

-1893.
-1837.
-1781.
-1724.
-1668.

—-252.
-252.
-252.
-252.
-252.

—-677.
—-677.
—677.
—-677.
—-677.

-1286.
-1265.
-1245.
-1225.
-1204.

-2324.
—2297.

83
83

06
73
39

72

7
26
82
37
92

33
33
33
33
33

73
73
73
73
73

12
80
47
15
83

82
73

o1
o1

1065.
880.
714.
564.
433.

844.
659.
492.
343.
212,

124.
124.
124.
124.
124.

o1
o1
o1
o1
o1

433.
319.
223.
145.

84.

212,
98.
.24
-76.
-136.

187.
187.
187.
187.
187.

154,
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.

.49
.49

57
99
10
91
42

28
69

61
12

57
57
57
57
57

.49
.49
.49
.49
.49

42
63
54
14
45

12
33

16
85

17
17
17
17
17

09
09
09
09
09

18
18
18
18
18

04
04

[N}

O O O O o

o O

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

O O O O o [oNeNeoNoNo]

O O O O o

.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00
.00

.00
.00

[N}

O O O O o

o O

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNeoNoNo] [oNeNeoNoNo]

O O O O o [oNeNeoNoNo]

O O O O o

.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00
.00

.00
.00

[N}

O O O O o

o O

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo] [oNeNoNoNo] [oNeNeoNoNo]

O O O O o [oNeNeoNoNo]

O O O O o

.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00
.00

.00
.00

481.
378.

3948.
3135.
2469.
1936.
1519.

2405.
1778.
1297.
949.
mr.

556.
479.
402.
326.
249.

378.
276.
173.

70.
-32.

1519.
1249.
1067.
959.
908.

7.
589.
548.
427.
344.

310.
.46
52.
-76.
-205.

181

195.
65.
-64.
-195.
-325.

610.
.66
-115.
—-478.
-649.

247

-103.
-260.

35
15
64
13
63

93
18
43
67
08

88

77
11
60

92
34
52
85
42

32

60
26
12

67
39
88
16
44

81
48
62
40

07
31



16

16

16

16

17

17

17

17

18

ENVO MAX
0.00
8.4E-01
1.67
2.51

3.35
ENVO MIN

0.00
8.4E-01
1.67
2.51
3.35

ENV1 MAX
0.00
8.4E-01
1.67
2.51
3.35

ENV1 MIN
0.00
8.4E-01
1.67
2.51
3.35

ENVO MAX
0.00
1.36
2.73
4.09
5.45
ENVO MIN
0.00
1.36
2.73
4.09
5.45
ENVT MAX
0.00
1.36
2.73
4.09
5.45
ENV1 MIN
0.00
1.36
2.73
4.09
5.45

ENVO MAX
0.00

-2270.
—2243.
-2216.

-252.
-252.
-252.
-252.
-252.

—-677.
-677.
—-677.
-677.
—677.

-1204.
-1184.
-1164.
-1143.
-1123.

-2216.
-2189.
-2162.
-2135.
-2108.

124.
124.
122.

122
122

91
o1

84.
84.
.73
.73
.73

81
81
81

-136.
-136.
-149.
-372.
-372.

122.

63
54
44

33
33
33
33
33

73
73
73
73
73

83
51
19
87
55

44
35
25
16
07

57
57
87

.87
.87

.49
.49

-14.
-154.
-1564.

76
09
09

45
45

85
85
31
24
24

87

188.
188.
188.

187.
187.
187.
187.
187.

154.
154.
154.
154.
154.

487 .
487 .
487 .
487 .
487 .

188.
188.
188.
188.
188.

-118.
-118.
-118.
252,
252.

-543.
-543.
-334.
-334.
-118.

-889.
-679.
.78
283.
476.

-431

-1668.
.91
-900.
-684.
.59

1451

-122

252,

04
04
04

17
17
17
17
17

09
09
09
09
09

18
18
18
18
18

04
04
04
04
04

43
43
43
33
33

83
83
56
56
43

38
51

56
79

13

84
61

33

o O

O O O OO O O O OO O O O OO O O O O o O O O O o O O O O o O O O OO

O O O OO

.00
.00
.00

.00

00
00

.00
.00

.00
.00

00
00

.00

.00
.00

00
00

.00

.00
.00

00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

o O

O O O OO O O O OO O O O OO O O O O o O O O O o O O O O o O O O OO

O O O OO

.00
.00
.00

.00

00
00

.00
.00

.00
.00

00
00

.00

.00
.00

00
00

.00

.00
.00

00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

o O

O O O OO O O O OO O O O OO O O O O o O O O O o O O O O o O O O OO

O O O OO

.00
.00
.00

.00

00
00

.00
.00

.00
.00

00
00

.00

.00
.00

00
00

.00

.00
.00

00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

00
00

.00
.00

.00

-417.
-760.
-1116.

-205.
-333.
-462.
.70
-720.

-591

-325.
-472.
-629.
-785.
-942.

-649.
-815.
-982.
-1148.
-1314.

-1116.
~1500.
-1898.
2296
~2695.

32.
.29
1143.
.87
1375.

601

1117

—-249.
193.
354.
516.
654.

-344.
1392.
2906.
3215.
3683.

-908.

423.
1180.
1600.
1682.

1375.

56
56
91

12
98
84

56

44
48
00
52
04

40
70
01
31
61

91
10
44
78
12

08

75

19

63
44
81
17
65

42
84
14
50
36

60
64
71
23
22

19



18

18

18

19

19

19

19

1.36
2.73
4.09
5.45
ENVO MIN
0.00
1.36
2.73
4.09
5.45
ENV1 MAX
0.00
1.36
2.73
4.09
5.45
ENV1 MIN
0.00
1.36
2.73
4.09
5.45

ENVO MAX
0.00
6.1E-01
1.23
1.84
2.45

ENVO MIN
0.00
6.1E-01
1.23
1.84
2.45

ENVT MAX
0.00
6.1E-01
1.23
1.84
2.45

ENV1 MIN
0.00
6.1E-01
1.23
1.84
2.45

122.
-16.
-1564.
-154.

-154.
-187.
-187.
-187.
-187.

81
81

-126.
-126.
-126.

-372.
-425.
—-425.
-425.
—-425.

—68.
.68
-34.
-17.
.00

-51

-91

-68.
-45.
-22.
.00

O O O OO

O O O OO

87
46
09
09

09
17
17
17
17

.73
.73

02
02
02

24
16
16
16
16

00

.00
.00
.00
.00

00

.00
.00
.00
.00

91

45
23

.88

91
94
97

461
461

-118.
-118.
252,
252,
252,

476.
71
1237.
1799.
2016.

1021

-122.
76.
559.
806.
1054.

62.
34.
15.
.88
.00

62.
34.
15.
.88
.00

O O O OO

O O O OO

.61
.61
677.
677.

73
73

43
43
33
33
33

79

94
96
19

59
80
17
91
64

00

.00
.00
.00
.00

00

.00
.00
.00
.00

01
88
50

01
88
50

O O O o

O O O OO

O O O O o O O O O o

O O O O o

O O O OO O O O OO

O O O OO

.00
.00
.00
.00

00
00

.00
.00
.00

00
00

.00
.00
.00

00
00

.00
.00
.00

.00
.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00

O O O o

O O O OO

O O O O o O O O O o

O O O O o

O O O OO O O O OO

O O O OO

.00
.00
.00
.00

00
00

.00
.00
.00

00
00

.00
.00
.00

00
00

.00
.00
.00

.00
.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00

O O O o

O O O OO

O O O O o O O O O o

O O O O o

O O O OO O O O OO

O O O OO

.00
.00
.00
.00

00
00

.00
.00
.00

00
00

.00
.00
.00

00
00

.00
.00
.00

.00
.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00

00

.00
.00
.00
.00

944 .77
801.76

76.86
-720.56

654.65
310.85
-32.96
-376.76
-942.04

3683. 36
2756.21
1994 . 31
6.79
-1365.26

1682.22
1426.66
533.98
-773.86
—2745.77

50.65
21.37
6.33
7.913E-01
0.00

50.65
21.37
6.33
7.913E-01
0.00
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12. 32 4=

[

c

—

*

=~

=

. =
=5 . AR

o =1

muf>

2H = -5}

dn

)

chE A 2 AATHE
fck =24 MPa, fy = 300 MPa, k1 =10.85, ®f =0.85, ®v =0.75

[ | | | | T 1
| B (mm) | H(m) | d(mm | ==(mm) | Mu (kN.m) | Vu (kN) |
| | | | | | |
[ | | | | I 1
| 2500.0 | 1000.0 | 900.0 | 100.0 | 908.600 | 1668.130 |
L | | | | | |
* UEZAAT () AH
T=As x fy = 10134.000 x 300.00 = 3040200.000
C=0.8 x fck xaxb=0.85x24.00 x a x 2500.000 = 51000.000 x a
T=CO|22, a=59.612mm, ¢ =59.612 / B1 =159.612 / 0.85 = 70.131 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015
et =0.0030 x (dt = ¢c) / ¢ =0.0030 x (900.00 - 70.131) / 70.131 = 0.0355
et = 0.0050 o|2=2 QI&X|HjctHO|0{, & = 0.85 & X ITHC}.
» WAEZE ALY
Mu/ © =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) @
AM@E Ao Cielsto] o|xtHH Ao Z AsE FSiCt
fy 2 Mu
As®2 - fy x d x As + = 0, As = 4011.634 mm?
2 x 0.8 x fck xb O]
* APZEZZF = 10134.0 mm? (HZZA 0 100.0 mm) , [AF2E = 2.526]
12k 1 D25 - 20.0 EA (= 10134.0 mm? )
*» AZH| HE
omin @ 1.4/ fy = 0.00467
0.25 +/ fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
pomax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.00450
pmax = puse, As = As(req) x 4/3 — EZH| 2t&, . 0K (E.4 6.3.2)

2ol tist 4
®Mn = 0.85 x 10134.000 x 300 x (900.00 - a/2) = 2248.730 kN.m
; a=As x fy / (0.85 x fck x b) = 59.612 mm

> Mu (= 908.600 kN.m) .. 0.K [QFHHE 2.475]

Mcto| cist HE (d = 800.00 mm)

®Ve = 0.75 x 1/6 x + fck x b x d
=0.75 x 1/6 x 24 x 2500.00 x 800.00 = 1224.745 kN
< Vu (= 1668.130 kN) , MEtEZd =

Av_req = (1668.130-1224.745) x 300.00 / (300x800.00x®) x 1000 = 738.975 mm?
Av_use 1935.500 mm® (D22-5.0 EA, C.T.C 300 mm)
Vs 1935.500 x 300.0 x 800.00 / 300.00 x 1000 = 1548.400 kN

Vs_Max = 2+v24.0 / 3 x 2500.00 x 800.00 x 1000 = 6531.973 kN = 1548.400 kN
s = 300.000 < 400.000 (d/2, 600 mm) 2.4 7.4.2 .. 0.K
®Vn 0.75 x (1632.993 + 1548.400) = 2386.045 kN = 1668.130 kN

0K

0K



« CHOIR| S 2 A H7LA

fck = 24 MPa, fy = 300 MPa, k1 =0.85, &f =0.85, dv =0.75
[ | | | | I 1
| B (m) | Hm) | d(mm | ==(mm) [ Mu(kN.m) | Vu (kN) |
| | | | | | |
| | | | | I 1
| 2500.0 | 900.0 | 775.9 | 80.0 | 3683.360 | 0.000 |
| | | | | | |
*» DA () MY
T =As x fy = 22982.000 x 300.00 = 6894600.000
C=0.8 x fck x ax b =0.85 x 24.00 x a x 2500.000 = 51000.000 x a
T=CO|2&2, 2 =135.188 mm, ¢ = 135.188 / B1 = 135.188 / 0.85 = 159.045 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015
et =0.0030 x (dt - ¢) / ¢ =0.0030 x (820.00 - 159.045) / 159.045 = 0.0125
et = 0.0050 O|E=2 QIFXHj=tHO|o{, & = 0.85 & HIEHC}.
*» HQAMAZ MH
Mu/ @ =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) @
Al@E AlMo| tHlsto] o[XtHH Ao Z AsE FEIC}
fy 2 Mu
As? - fy x d x As + = 0, As = 20156.472 mm?
2x 0.8 x fck xb O]
x A2EZE = 22082 .0 mm?2 (AZZA 1241 mm) |, [AI2E = 1.140]
1Ct : D29 - 20.0 EA (= 12848.0 mm? )
2¢t D25 - 20.0 EA (= 10134.0 mm? )
» AZH| HE
omin @ 1.4/ fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
omax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd =0.01185
pmax = puse = pmin — AEZHl TFE 0 0K
» 2o st AE
®Mn = 0.85 x 22982.000 x 300 x (775.90 - a/2) = 4150.990 kN.m
; a=As x fy / (0.85 x fck x b) = 135.188 mm

S
= Mu (= 3683.360 kN.m) .. 0.K [ E 1.127]



« CHOIR| S 2 A H7LA
fck = 24 MPa, fy = 300 MPa, ki1 =0.85 of =0.85, ®&v =0.75

H (mm) d (mm) Mu (KN.m) Vu (kN)

933.3 805.0 2745.770

[
|
I
| 2016.190
|

ZELUNA (o) -

T x fy = 17915.000 x 300.00 = 5374500.000

C=0.85x fck xaxb=0.85x24.00 x a x 2500.000 = 51000.000 x a
T=CO|EZ, a=105.382 mm, ¢ = 105.382 / B1 = 105.382 / 0.85 = 123.979 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015

et =0.0030 x (dt - ¢) / ¢ =0.0030 x (833.33 - 123.979) / 123.979 = 0.0172
et = 0.0050 O[22 QIZEX|HfEtHO|DY, & = 0.85 & XM Zshct.

1
= = - [ )
Mu/ ® =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) ®
Al@E Ao isto] oAt A2 AsE FHICH
fy 2 Mu
As?2 - fy xdx As + = 0, As = 14101.744 mm?
2 x 0.8 x fck xb )
ANEBHEZZ = 17915.0 nmm? (HZZA : 128.3 mm) , [AFEE = 1.270]
1ch @ D29 - 20.0 EA (= 12848.0 mm? )
2¢h 2 D25 - 10.0 EA (= 5067.0 mm? )
HId| HE
omin : 1.4 / fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
omax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.00890
pmax = puse = pmin — AEZHl TFE 0 0K

.85 x 17915.000 x 300 x (805.05 - a/2) = 3437.019 kN.m
s x fy / (0.85 x fck x b) = 105.382 mm
> Mu (= 2745.770 kN.m) S 0K [eHME 1.252]

.. ©m
=

o S

Tl

> o

Mctol| tist AE (d = 771.72 mm)

®Ve = 0.75 x 1/6 x + fck x b x d
=0.75 x 1/6 x 24 x 2500.00 x 771.72 = 1181.445 kN
< Vu (= 2016.190 kN) , ™MEtEHZ E'R.

Av_req = (2016.190-1181.445) x 300.00 / (300x771.72x®) x 1000 = 1442.231 mm?

1935.500 mm® (D22-5.0 EA, C.T.C 300 mm)
1935.500 x 300.0 x 771.72 / 300.00 x 1000 = 1493.657 kN

Av_use
Vs

Vs_Max = 2+424.0 / 3 x 2500.00 x 771.72 x 1000 = 6301.038 kN = 1493.657 kN
s = 300.000 < 385.858 (d/2, 600 mm) 2.4 7.4.2 .. 0.K
®Vn 0.75 x (1575.260 + 1493.657) = 2301.688 kN = 2016.190 kN

0K

0K



CHEM R 2 AT

fck = 24 MPa, fy =300 MPa, ki1 =0.85, &f =0.85, dv =10.75

[ [ [ [ [ I |
| B(mm) | H@m | d(mm) | Z=(mm) | Mu (kN.m) | Vu (kN) |
| | | | | | |
| | | | | | |
| 2500.0 | 1216.7 | 1066.7 | 100.0 | 3948.020 | 1970.680 |
| | | | | | |

AT (o) MY

T x fy = 25696.000 x 300.00 = 7708800.000

C=0.8 x fck xaxb=0.85x24.00 x a x 2500.000 = 51000.000 x a
T=CO|l2&2, a=151.153 mm, ¢ = 151.153 / B1 =151.153 / 0.85 = 177.827 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015

et =0.0030 x (dt - ¢) / ¢ =0.0030 x (1116.67 - 177.827) / 177.827 = 0.0158
et = 0.0050 O|=22 QI&EX|sjctHold, ¢ = 0.85 & HEstC}

1
= = - [ )
Mu/ ® =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) ®
Al@E Ao isto] oAt A2 AsE FHICH
fy 2 Mu
As?2 - fy xdx As + = 0, As = 15147.440 mm?
2 x 0.8 x fck xb )
Al2E 22 = 25696.0 mm?

=1
1k D29 - 20.0 E
2tk 1 D29 - 20.0 E

> >~
|

c 1.4/ fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
pmax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.00964
pmax = puse = pmin — AEZHl TFE 0 0K

.85 x 25696.000 x 300 x (1066.67 - a/2) = 6494.099 kN.m
s x fy / (0.85 x fck x b) = 151.153 mm
= Mu (= 3948.020 kN.m) .. 0.K [N E 1.645]

.. ©m
=

o S

Tl

> o

Mcto| cist HE (d = 850.00 mm)

®Ve = 0.75 x 1/6 x + fck x b x d
=0.75 x 1/6 x v 24 x 2500.00 x 850.00 = 1301.291 kN
< Vu (= 1970.680 kN) , MEtEZ =

Av_req = (1970.680-1301.291) x 300.00 / (300x850.00x<®) x 1000 = 1050.021 mm?

1432.500 mm® (D19-5.0 EA, C.T.C 300 mm)
1432.500 x 300.0 x 850.00 / 300.00 x 1000 = 1217.625 kN

Av_use
Vs

Vs_Max = 2+424.0 / 3 x 2500.00 x 850.00 x 1000 = 6940.221 kN = 1217.625 kN
s = 300.000 < 425.000 (d/2, 600 mm) 2. M 7.4.2 .. 0.K
®Vn = 0.75 x (1735.055 + 1217.625) = 2214.510 kN = 1970.680 kN

0K

0K



« CHOIR| S 2 A H7LA

fck = 24 MPa, fy = 300 MPa, k1 =0.85, &f =0.85, dv =0.75
[ | | | | I 1
[ B (mm) | H@m | dmm | Z=(mm) | Mu (kN.m) | Vu (kN) |
| | | | | | |
| | | | | I 1
| 2500.0 | 1000.0 | 875.9 | 80.0 | 3692.210 | 0.000 |
| | | | | | |
*» DA () MY
T =As x fy = 22982.000 x 300.00 = 6894600.000
C=0.8 x fck x ax b =0.85 x 24.00 x a x 2500.000 = 51000.000 x a
T=CO|2&2, 2 =135.188 mm, ¢ = 135.188 / B1 = 135.188 / 0.85 = 159.045 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015
et =0.0030 x (dt - ¢) / ¢ =0.0030 x (920.00 - 159.045) / 159.045 = 0.0144
et = 0.0050 o|2=2 QIZX|HjctHO|n{, & = 0.85 & X ST},
*» HQAMAZ MH
Mu/ @ =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) @
Al@E AlMo| tHlsto] o[XtHH Ao Z AsE FEIC}
fy 2 Mu
As? - fy x d x As + = 0, As = 17566.850 mm?
2x 0.8 x fck xb O]
x A2EZE = 22082 .0 mm?2 (AZEZA! 1241 mm) , [AI2E = 1.308]
1Ct : D29 - 20.0 EA (= 12848.0 mm? )
2¢t D25 - 20.0 EA (= 10134.0 mm? )
» AZH| HE
omin @ 1.4/ fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
omax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.01050
pmax = puse = pmin — AEZHl TFE 0 0K
« Eo| et AE
®Mn = 0.85 x 22982.000 x 300 x (875.90 - a/2) = 4737.031 kN.m
; a=As x fy / (0.85 x fck x b) = 135.188 mm

S
= Mu (=3692.210 kN.m) .. 0.K [t E 1.283]



« CHOIR| S 2 A H7LA
fck = 24 MPa, fy = 300 MPa, ki1 =0.85 of =0.85, ®&v =0.75

H (mm) d (mm) I = (mm) Mu (KN.m) Vu (kN)

1000.0 875.9 80.0 610.810

[
|
I
| 1964790
|

ZELUNA (o) -

T x fy = 22982.000 x 300.00 = 6894600.000

C=0.85x fck xaxb=0.85x24.00 x a x 2500.000 = 51000.000 x a
T=CO|EZ, a=135.188 mm, ¢ = 135.188 / B1 = 135.188 / 0.85 = 159.045 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015

et =0.0030 x (dt —¢) / ¢ =0.0030 x (920.00 - 159.045) / 159.045 = 0.0144
et = 0.0050 O[22 QIZEX|HfEtHO|DY, & = 0.85 & XM Zshct.

1
= = - [ )
Mu/ ® =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) ®
Al@E Ao isto] oAt A2 AsE FHICH
fy 2 Mu
As?2 - fy xdx As + = 0, As = 2760.281 mm?
2 x 0.8 x fck xb )
AEHE 28 = 22982.0 mm2 (EZ2ZA : 124.1 mm) , [AFEE = 8.326]
1ch @ D29 - 20.0 EA (= 12848.0 mm? )
2EH 2 D25 - 20.0 EA (= 10134.0 nm? )
HId| HE
omin : 1.4 / fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
omax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.01050
pmax = puse = pmin — AEZHl TFE 0 0K

.85 x 22982.000 x 300 x (875.90 - a/2) = 4737.031 kN.m
s x fy / (0.85 x fck x b) = 135.188 mm
= Mu (= 610.810 kN.m) .. 0.K [SHNE 7.755]

.. ©m
=

o S

Tl

> o

Mchol thst HE (d = 875.90 mm)

®Ve = 0.75 x 1/6 x + fck x b x d
=0.75 x 1/6 x 24 x 2500.00 x 875.90 = 1340.950 kN
< Vu (= 1964.790 kN) , MEEZL ZQ

Av_req = (1964.790-1340.950) x 300.00 / (300x875.90x®) x 1000 = 949.632 mm?
Av_use 1432.500 mm® (D19-5.0 EA, C.T.C 300 mm)
Vs 1432.500 x 300.0 x 875.90 / 300.00 x 1000 = 1254.733 kN

Vs_Max = 2+424.0 / 3 x 2500.00 x 875.90 x 1000 = 7151.731 kN = 1254.733 kN
s = 300.000 < 437.952 (d/2, 600 mm) 2.4 7.4.2 .. 0.K
®Vn 0.75 x (1787.933 + 1254.733) = 2282.000 kN = 1964.790 kN

0K

0K



HAMe 2 MAATHE

fck =24 MPa, fy = 300 MPa, k1 =0.85, ®f =0.85, dv =0.75

H (mm) d (mm) Mu (KN.m) Vu (kN)

1100.0 1000.0 908.600

I
|
i
| 54.830
]

ZELUNA (o) -

T x fy = 10134.000 x 300.00 = 3040200.000

C=0.85x fck xaxb=0.85x24.00 x a x 2500.000 = 51000.000 x a
T=CO|EZ, a=59.612mm, ¢ =59.612/ B1 =259.612 / 0.85 =70.131 mm
ey = fy / Es = 300.00 / 200000.00 = 0.0015

et =0.0030 x (dt - ¢) / ¢ =0.0030 x (1000.00 - 70.131) / 70.131 = 0.0398
et = 0.0050 O[22 QIZEX|HfEtHO|DY, & = 0.85 & XM Zshct.

1
= = - o
Mu/ ® =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) ®
Al@E Ao isto] oAt A2 AsE FHICH
fy 2 Mu
As?2 - fy xdx As + = 0, As = 3601.282 mm?
2 x 0.8 x fck xb )
ALEEZZ = 10134.0 mm? (EZZA : 100.0 mm) , [AIEE = 2.814]
12k : D25 - 20.0 EA (= 10134.0 mm? )
7:4_:L|:|| l7:—IIE
omin @ 1.4/ fy = 0.00467
0.25 « fck / fy = 0.00408 , pomin = 0.00467 M &
TE2THE | = 0.00200
pmax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.00405
pmax = puse, As = As(req) x 4/3 — EZH| ot . 0K (.M 6.3.2)

2ol tist 2
®Mn = 0.85 x 10134.000 x 300 x (1000.00 - a/2) = 2507.147 kN.m
;a=As x fy / (0.85 x fck x b) = 59.612 mm
> Mu (= 908.600 kN.m) .. 0.K [CHME 2.759]

Mctof| st HE (d = 800.00 mm)
®Vec =0.75 x 1/6 x v fck x b x d

=0.75 x 1/6 x V24 x 2500.00 x 800.00 = 1224.745 kN
®Ve/2 = Vu (= 54.830 kN) , MEt2Zr £ Q.



|7|.X-I

fy = 300 MPa, k1 =0.85, &f =0.85, ®v =0.75

H (mm) d (mm) Mu (KN.m) Vu (kN)

900.0 800.0 1519.880

I
|
i
| 0.000
]

> 0.0050 o|=2& QIZX|HCh

H=(d) AH

fy = 10134.000 x 300.00 = 3040200.000
.85 x fck x a x b =0.85 x 24.00 x a x 2500.000 = 51000.000 x a
O|[EZ2, a=59.612mm, ¢ =59.612 / B1 =259.612 / 0.85 = 70.131 mm
fy / Es = 300.00 / 200000.00 = 0.0015

0.0030 x (dt - ¢) / ¢ =0.0030 x (800.00 - 7

0.1 70.131 = 0.0312
Mold, © =0.85 & % .

31) /
X 8 5hC

®
b) ®
2 AsE T

|0 %

Tt
Mu

As?

2x 0.8 x fck xb

=2l off
=

As

- fy xdxAs + 0,

0}

AT Al
= - -1 O
(:

10134.0 mm?

=10134.0 mm? (
D25 - 20.0 EA

© 100.0 mm) ,
)

(A2 E = 1.322]

0.00467
= 0.00408
0.00200
.64 x k1 x ®x (fck / fy) x

0.00507
pmin — EZH| S

pmin = 0.00467 &2

{600 / (600 + fy)}

Y

“ 0K

tiet 4=

7666.476 mm?

= 0.02478

®Mn = 0.85 x 10134.000 x 300 x (800.00 - a/2)
;a=As x fy / (0.85 x fck x b) = 59.612 mm

= Mu (= 1519.880 kN.m) 0K [SHHE 1

1990.313 kN.m

.310]



» CHHA el 2 MAHIIY
fck = 24 MPa, fy =300 MPa, ki1 =0.85, &f =0.85, dv =10.75
[ [ [ [ [ I |
| B(mm) | H@m | d(mm) | Z=(mm) | Mu (kN.m) | Vu (kN) |
| | | | | | |
| | | | | | |
| 2500.0 | 983.3 | 833.3 | 100.0 | 3948.020 | 1065.570 |
| | | | | | |
2t

LA (0) A
X

fy = 25696.000 x 300.00 = 7708800.000

.85 x fck x ax b =0.85x 24.00 x a x 2500.000 = 51000.000 x a

y = fy / Es = 300.00 / 200000.00 = 0.0015
t =0.0030 x (dt -=c) / ¢ =0.0030 x (883.33 - 177.827) / 177.827 = 0.0119
t

T
C =
T=CO0lE&Z, a=151.1583 mtm, ¢ = 151.153 / B1 = 151.153 / 0.85 = 177.827 mm
€
€
et = 0.0050 o2& QIFX[HftHOl, & =0.85 & M Eetct.

1
= = - [ )
Mu/ ® =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) ®
Al@E Ao isto] oAt A2 AsE FHICH
fy 2 Mu
As?2 - fy xdx As + = 0, As = 19989.151 mm?
2 x 0.8 x fck xb )
AEHE 2 = 25696.0 mm2 (T4 : 150.0 mm) , [AFEE = 1.285]
1ch @ D29 - 20.0 EA (= 12848.0 mm? )
2EF D29 - 20.0 EA (= 12848.0 mm? )
HId| HE
omin : 1.4 / fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 M &
TE2 T A 2| = 0.00200
omax = 0.64 x Pb = 0.64 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02478
puse = As / bd = 0.01233
pmax = puse = pmin — AEZHl TFE 0 0K

.85 x 25696.000 x 300 x (833.33 - a/2) = 4965.187 kN.m
s x fy / (0.85 x fck x b) = 151.153 mm
= Mu (= 3948.020 kN.m) .. 0.K [N E 1.258]

. O
=
® 5
non
> o

Mcto| cist HE (d = 750.00 mm)
®Ve = 0.75 x 1/6 x + fck x b x d
=0.75 x 1/6 x v¥24 x 2500.00 x 750.00 = 1148.198 kN
®Ve/2 < Vu (= 1065.570 kN) , = FMetEZ 24
Av_req = 0.0625 x +24.0 x 2500.0 x 300.0 / 300.0 = 875.000 mm® (= 0.35bs/fy)
Av_use = D19 - 5.0 EA = 1432.500 mm? 50K



fck = 24 MPa, fy = 300 MPa, k1 =0.85, ®c = 0.65, e = 1215.97 mm

H (mm) d (mm) I| = (mm) Pu (kN) Mu (KN.m)

1200.0 900.0 800.0 100.0 2216.440 2695.120

O HZH| HE
Ag = 1080000.00 mm? , Ast = 27002.80 mm? , Puse = 0.02500
- 12t : D32 - 34EA (As=27002.800 mm2 ), d1 = 100.000 mm
pmin (= 0.0100) < puse (= 0.0250) < pmax (= 0.0800) .. 0.K
dsts M
=600 / (600 + fy) x d = 533.000 mm, ab = k1 x cb = 453.050 mm
= 0.85 x 24.0 x 453.050 x 1200.000 = 11097.600 kN
> Csi = 3536.731 kN, > Tsi = 3037.815 kN
Pb = 11097.600 + 3536.731 - 3037.815 11596.516 kN
Mo = Cc x 223.333 + S (Csi*di) + S (Tsi*di) 4519.042 kN.m
eb < e — Q& TA (eb = Mb/Pb = 389.690 mm, e = Mu/Pu = 1215.968 mm)

MEHS 0|235101 ¢ = 250.368 mm, a = k1 x ¢ = 212.813 mm & A}2.
Cc = 0.85 x 24.0 x 212.813 x 1200.000 = 5209.660 kN
> Csi = 2601.967 kN, > Tsi = 4715.866 kN

Pn = 5209.660 + 2601.967 - 4715.866 = 3095.760 kN
Mn = Cc x 34.359 + > (Csi*di) + S (Tsi*di) = 3764.331 kN.m
- HARXF : |e - Mn/Pn(=1215.963) | = 0.0045 < 0.010 .. F2LX} o=

ZEZAAT (o) A

dt = 900.00 - 100.00 = 800.000 mm

c 250.368 mm, a = k1 x ¢ = 212.813 mm

ey = fy / Es = 300.00 / 200000.00 = 0.0015

et =0.0030 x (dt-c) / ¢ = 0.0030 x (800.00-250.37) / 250.37 = 0.0066

— A+=F20| 0.10+~fck*AgECt 211 fy7F 400 MPa O|SI0|22 et = 0.00408 X SEHC}.
ey <et < 0.0050 o|E=2 H{5FZIEtHO[0, & = 0.79 & X Zsict.
® = 0.650 + (0.0040-0.0015) x (0.850-0.650) / (0.0050-0.0015) = 0.793

suse 9 Holtet HE

MaxPn = 0.80 x {0.85 fckx(Ag-Ast) + fyxAst} = 23665.586 kN = Pn = 3095.760 kN
®Pn = 0.79 x 3095.760 = 2454.496 kN = Pu =2216.440 kN .. 0.K
®Mn = PdPn x 1.216 = 2984.588 kN.m = Mu = 2695.120 kN.m .. 0.K



H

Prn(kN)
Pu Mu
‘ 2216 2695

1
n

28750
27500
26250
25000
53750 Pnh=23665.57/83
22500
21250
20000
18750
17500
16250
15000
13750
12500
11250
10000
8750
7500
6250
5000
3750
2500
1250

Phn=15382.625

é@m(KN.Wﬂ

250

500

750
1000
1250
1500
1750
2000
2250
2500
2750
3000
3250
3500
3750
4000
4750
4



232 E MAHZLE fck = 24.0 lPa =HZ 52U T fy = 300.0 MPa
Z32|E S 2™EE3 pca =0.084 fck HZ FE2lz&23 fsa = 150.0 MPa
= 0.392 MPa

ALE235IE ZBHE Mo = 834.44 kN.m T
|

HAXBERfe| =0 a = 900.00 mm |

THERe =0l b = 900.00 mm | R
|

A&lersko| S1X| Hb = 300.00 mm |

=Zatere| #Xl Ha = 600.00 mm |
| |
| |
| |
1 L

R = 42 X (Ha*Hb + Hb*a + Ha*b) + (Ha + Hb)

= 1555.635 mm | a | Ha |

I % I

» Z|Cf Az S (ftmax)

5 Mo 5 x 834.44 x 1000000
ftmax = = = 1.724 MPa
RZ W 1555.6352 x 1000.0
> tca (= 0.392 MPa) LB HZ e

2 Mo 2 X 834.44 x 1000000
Ag = = = 7151.978 mm?2
R fsa 1555.635 x 150.0
» QLUSE MY HE
As = 7742.000 mm® = 7151.978 mm? S0 0.K

3871.000 mm? )
3871.000 mm? )

12k © D22 - 10.0 EA (
2ck 1 D22 - 10.0 EA (



42

A

*

2 E MAZE fck = 24.0 lPa =HZ 52U T fy = 300.0 MPa
2| E XS vea = 0.084 fck HZ F2ZS3H fsa = 150.0 MPa
= 0.392 MPa
ALE23IE ZHE Mo = 1863.01 kN.m T
|
X2 e| =0| a = 900.00 mm |
HEXe| =0l b = 900.00 mm |
|
2| gtskol X[ Hp = 300.00 mm |
Harskol S1X| Ha = 600.00 mm |
| |
| |
| |
1 1
R = +2 X (Ha*Hb + Hb*a + Ha*b) =+ (Ha + Hb)
= 1555.635 mm | a | Ha |
I % I
Zof ol 23 (ftmax)
5 Mo 5 x 1863.01 x 1000000
ftmax = = = 3.849 MPa
RZ W 1555.6352 x 1000.0
> tTca (= 0.392 MPa) LB EZ EHE
HZ A2 M
2 Mo 2 x 1863.01 x 1000000
Ag = = = 150967 .842 mm?
R fsa 1555.635 x 150.0

>

15967 .842 mm?2

~0.K

1EF © D25 - 20.0 EA (

: D25 - 20.0 EA (

10134.000 mm? )
10134.000 mm? )



232 E MAHZLE fck = 24.0 lPa =HZ 52U T fy = 300.0 MPa
Z32|E S 2™EE3 pca =0.084 fck HZ FE2lz&23 fsa = 150.0 MPa
= 0.392 MPa
a
I %
ALE3IE BHE Mo = 2747.79 kN.m | |
HAXERfe| =0 a = 900.00 mm T  —T
THEAe| =0l b = 1000.00 mm | |
| |
A X 8t5ko| SIX| Hb = 250.00 mm | |
T utsko| $1X| Ha = 650.00 mm | |
|
|
|
| R
|
R = +2 X (Ha*Hb + Hb*a + Ha*b) = (Ha + Hb) |
= 1630.274 mm |
|
 =lOf el& S& (ftmax)
5 Mo 5 x 2747.79 x 1000000
ftmax = = = 5.169 MPa
Rz W 1630.2742 x 1000.0
> tca (= 0.392 MPa) LoEZEEZ EHe
» HZF M2 ALY
2 Mo 2 X 2747.79 x 1000000

= 22473.033 mm?

P

(@]
|
I}

R fsa 1630.274 x 150.0

As = 25696.000 mm* = 22473.033 mm? < 0.K

1CF : D29 - 20.0 EA (
20k 1 D29 - 20.0 EA (

12848.000 mm? )
12848.000 mm? )



23I2|E MAZE fck = 24.0 MPa HZ SEZT fy = 300.0 MPa
238 E S 2MctE23 yca = 0.08y fck HZ 522E23 fsa = 150.0 MPa
= 0.392 MPa
a
———e
ALE235IE BHE Mo = 146.83 kN | |
HAXEIHe| =0 a = 900.00 mm T ° — T
THEAe| =0l b = 1000.00 mm

R = (a® +b?)
= 1345.362 mm

Jua]

*

[Cf Q& & (ftmax)

5 Mo 5 x 146.83 x 1000000
ftmax = =
RZ W 1345.3622 x 1000.0
> Tca (= 0.392 MPa) LRz HEZ

2 Mo 2 x 146.83 x 1000000
Ag = =
R fsa 1345.362 x 150.0
» QLUSE HIY HAE
As = 7742.000 mm? = 1455.172 mm?

= 0.406 MPa

MUl
fo

= 1455.172 mm?

0K

12k D22 - 20.0 E

A (= 7742.000 mm? )



1
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]

r
it
x2
rx

0

il
u U

c

As,req

- Jdegez

T

O X ek

Oo=2c o

0.0020 x B x H =0.0020 x 1000.0 x 900.0

1800 mm?
ol 1/2 Ol&at2 X MH L HIHO BH2SHC.

1B Y D16 @ 15022 Hi=2otH 23 x 198.6 mm® x 6.67 EA

@ otRschE
- As,req = 0.0020 x B x H = 0.0020 x 1000.0 x 1,000.0

- Jdegez

O X ek

Oo=2c o

2650 mm? 0.K I

2000 mm?
ol 1/2 Ol&at2 X MH L HIHO BH2SHC.

1B E D16 @ 15022 Hi=2otH 28 x 198.6 mm* x 6.67 EA

® 9 A

2650 mm? 0.K I

- As,req = 0.0025 x B x H =0.0025 x 1000.0 x 900.0

- Jdeglez

O X ek

Oo=2c o

2250 mm?
ol 1/2 Ol&t2 X MH L HIHO BH2SHC.

1B E D16 @ 15022 Hi=2otH 28 x 198.6 mm* x 6.67 EA

2650 mm? 0.K I



13. A EY HE

[ REHE : YRS =-5E
27 4Y
fs =M/ [As x (d - x/3)] = 834.440 x 1000000 / [10134.000 x (900.000 - 222.360/3) ]
= 99.700 MPa

*

AEHEIZF = 10134.0 nm2  (E2EA : 100.0 mm)
1k 0 D25 - 20.0 EA (= 10134.0 mm? )

HZo ztf SoHA
Cc = 100.00 - 25/2 = 87.50 mm
0{7[M Cc ; lEEZo|Lt ZIEA el EHI ZF2E FHALO[2] FH(mm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 99.70) - 2.5 x 87.50
300 x (210 / fs) 300 x (210 / 99.70)
Sa= &2 gl 571.12 mm E HE
S =2500.00 / 20.00 Ea = 125.00 < Sa (= 571.12 mm) S 0K

571.12 mm
631.89 mm

UHE : MRSA=-FY ]
S 4y
fs =M/ [As x (d - x/3)] = 2675.490 x 1000000 / [22982.000 x (775.905 - 285.007/3) ]
= 170.974 MPa
eSS

=2k =22082.0 nm?2  (HEZTA 1241 mm)
1CF © D29 - 20.0 EA (= 12848.0 mm? )
2tk 1 D25 - 20.0 EA (= 10134.0 mm? )

ool Ao) B4
Cc = 80.00 - 29/2 = 65.50 mm
oi7|M Co ; elEFEZo|uf ZIRKle| EwI} ZAz2|= EHAole] S (m)

Smin @ 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 170.97) - 2.5 x 65.50 = 296.85 mm
300 x (210 / fs) =300 x (210 / 170.97) = 368.48 mm
SaE ZH2 Ztel 296.85 mm £ M2
S =2500.00 / 20.00 Ea = 125.00 < Sa (= 296.85 mm) 0K
YHE  MELHE-2F ]
S8 AMA
fs =M/ [As x (d - x/3)] = 1863.010 x 1000000 / [17915.000 x (805.050 - 264.141/3)]
= 145.037 MPa
At2HZE = 17915.0 mm?2 (HZE4A @ 128.3 mm)
12F 0 D29 - 20.0 EA (= 12848.0 mm? )
2tk 0 D25 - 10.0 EA (= 5067.0 mm? )
7<-IZ.O| x||:|.| AI7|-7:1
Cc = 100.00 - 29/2 = 85.50 mm
07| Cc ; QAZrAZo|L} ZIZAHe| Mt Z32|E FHALO|2| FH(mm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 145.04) - 2.5 x 85.50 = 329.22 mm
300 x (210 / fs) = 300 x (210 / 145.04) = 434.37 mm
Sae= &2 Zrel 329.22 mm & M
S =2500.00 / 20.00 Ea = 125.00 < Sa (= 329.22 mm) S 0.K



EX
12
o

*

*

*

S PR LS

Saf A

fs =M/ [As x (d - x/3)] = 2747.790 x 1000000 / [25696.000 x (1066.667 - 361.259/3) ]
= 113.009 MPa

A& Z2F = 25696.0 mm? (éa
12k © D29 - 20.0 EA (=
2tk 0 D29 - 20.0 EA

XMoo o) =AZHA
Cc = 100.00 - 29/2 = 85.50 mm

047|M Cc ; EEZO|L} ZIZAe EH Z2H2|E EHALOIL| A (mm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 113.01) - 2.5 x 85.50 = 483.10 mm
300 x (210 / fs) =300 x (210 / 113.01) = 557.48 mm

Sa= &2 Ziol 483.10mm £ ME
S = /

2500.00 / 20.00 Ea = 125.00 < Sa (= 483.10 mm) < 0.K

AUHE : s sH=-FY ]

S Ay

fs =M/ [As x (d - x/3)] = 2718.660 x 1000000 / [22982.000 x (875.905 - 306.856/3) ]
2.

M

152.911 MPa

ALSEZE = 22982.0 nmm? (E 2T : 1241 mm)
12k 1 D29 - 20.0 EA (= 12848.0 mm? )

2ch 0 D25 - 20.0 EA (= 10134.0 mm? )

x-I:Lo| = =A71A
Cc =80.00 - 29/2 = 65.50 mm

047|M Cc ; @R Zo|L}t ZIZA e EHnl Z232|E EHALO|L] S| (mm)

Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 152.91) - 2.5 x 65.50 = 351.25 mm
300 x (210 / fs) =300 x (210 / 152.91) = 412.00 mm

Sa= Zf2 42l 351.25 mm & M2

S =2500.00 / 20.00 Ea = 125.00 < Sa (= 351.25 mm) S 0K

HHE : StRSHE-F ]

S8 AX

fs=M/ [As x (d - x/3)] = 146.830 x 1000000 / [22982.000 x (875.905 - 306.856/3) ]

= 8.258 MPa

Ar2AE I = 22082.0 nm2 (A2 EA! 1241 mm)
1CF D29 - 20.0 EA (= 12848.0 mm? )
2ch 0 D25 - 20.0 EA (= 10134.0 mm? )

* Jg_:Lo x||:|.| AI7|-7:1

Cc = 80.00 - 29/2 = 65.50 mm

0{7|M Cc ; SAZEZo|Lt ZIZAe] EHA 232|E EHALOIS] S (mm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 8.26) - 2.5 x 65.50 = 9371.91 mm
300 x (210 / fs) =300 x (210 / 8.26) = 7628.53 mm

Sa
S

I HF

Zt2 Ztol 7628.53 mm & HE
2500.00 / 20.00 Ea = 125.00 < Sa (= 7628.53 mm) S 0K



[ FHAE  FEu Al ]
« g Ay
fs =M/ [As x (d - x/3)] = 834.440 x 1000000 / [10134.000 x (1000.000 - 236.090/3) ]
= 89.374 MPa
ALEEZE = 10134.0 nm® (HZX=4 : 100.0 mm)
1€k 1 D25 - 20.0 EA (= 10134.0 mm? )

x-I:Lo| = =A7HA

Cc = 100.00 - 25/2 = 87.50 mm

07|AM Cc ; QUERFAEZOIL} ZIZAfe| FHnt Z32|E EHALO|L] FH|(mm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 89.37) - 2.5 x 87.50 = 662.38 mm
300 x (210 / fs) =300 x (210 / 89.37) = 704.90 mm
Sa= &r2 g2l 662.38 mm & M2
S =2500.00 / 20.00 Ea = 125.00 < Sa (= 662.38 mm) ~ 0.K
[ ALZE : Z=EHF - ]
» S A
fs =M/ [As x (d - x/3)] = 1223.350 x 1000000 / [10134.000 x (800.000 - 207.859/3)]
= 165.205 MPa
At2E 22 = 10134.0 mm2 (22 ZA : 100.0 mm)
1F D25 - 20.0 EA (= 10134.0 mm? )
* x-I:Lo| xl[H AI7|-7:I
Cc = 100.00 - 25/2 = 87.50 mm
07|AM Cc ; QUERFAEZO|L} ZIZAfe| FHnt Z32|E EHALO|L| FH(mm)
Smin @ 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 165.20) - 2.5 x 87.50 = 257.93 mm
300 x (210 / fs) =300 x (210 / 165.20) = 381.34 mm
SaE ZH2 Ztel 257,93 mm £ M2
S =2500.00 / 20.00 Ea = 125.00 < Sa (= 257.93 mm) ~ 0.K
[ FEAE : A=Hz-5}ct ]
» S A
fs =M/ [As x (d - x/3)] = 2747.790 x 1000000 / [25696.000 x (833.333 - 310.897/3) ]
= 146.546 MPa
A2E 22 = 25606.0 mm2  (EZ2ZA : 150.0 mm)
1CF © D29 - 20.0 EA (= 12848.0 mm? )
2¢h 0 D29 - 20.0 EA (= 12848.0 mm? )
« 2o #of ZSA7HA
Cc = 100.00 - 29/2 = 85.50 mm
0{7|M Cc ; SAZEZo|Lt ZIZAe] EHA 232|E EHALOIS] S (mm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 146.55) - 2.5 x 85.50 = 323.63 mm
300 x (210 / fs) =300 x (210 / 146.55) = 429.90 mm
Sa= ZH2 Ztol 323.63mm & M
S =2500.00 / 20.00 Ea = 125.00 < Sa (= 323.63 mm) "~ 0.K
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15.

7lSehE Y
10000
650 1200 1300 1200 1300 1200 1300 1200 650
L T
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| | | |
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| | | |
| | | |
| | | |
= I I I I
— 1 1 | |
=~ | | | |
| | | |
| | | |
| | | |
| | | |
| | | |
1 1 1 1
o | | | |
= R S e - - Lo - U
Al
7lsctHE ey
10000
1250 2500 2500 2500 1250
W = 80648 KkN/m  (AKBSFEAl:  584.81 kN/m)
o sl o [al [s] o [e] [i7] o [i8]  [19] [20]
10 11 12 13 14 15 16 17 18
S
3 [Co [0 [ [z
[1] [2] [3] [a] [5] [6] [7] [s]
1% 2% 3% 4% 5% 6% 7% 8% 9%
1250 | 1250 | 1250 | 1250 | 1250 | 1250 | 1250 | 1250
10000
W = 78592 kN/m (AB3IEAl: 585.90  kN/m)
W 7|5 (%5) Mot / 2.50m (T Y stE A Z20l)



NO. X Z NO. X Z
1 0.000 0.000 10 0.000 5.890
2 1.250 0.000 11 1.250 5.890
3 2.500 0.000 12 2.500 5.890
4 3.750 0.000 13 3.750 5.890
5 5.000 0.000 14 5.000 5.890
6 6.250 0.000 15 6.250 5.890
7 7.500 0.000 16 7.500 5.890
8 8.750 0.000 17 8.750 5.890
9 10.000 0.000 18 10.000 5.890
17. 7| S£hH cHHA S
NO B(m) Hm) | A(m?) I(m*) MEMBER
1 1.2 2.3 1.2 23 3 = 1.216700 1~14
2 0.9 1.2 0.9 1.2 %8 = 0.129600 15~22
3 0.9 1.2 0.900 1.2 %8 = 0.129600 9~12
18. SPRING AT AHH
Kv = Kvo (Bv /0.330)7%*
= 280000.00 x(  30.000 0.3 )%
=  8854.377 kN/m?®
047|M, Kvo= 1/ 0.3 x x FEo
= 1/ 0.3 x X 84000 280000.0 kN/m®
Bv = Y 1000 x 0.9 =  30.000
Eo= 2800 = 2800 30 = 84000  kN/m?
K1, K9 = 8854 x( 000 + 1 / 2x 1.250 = 5534 kN/m
K2, K8 = 8854 x 1/ 2 x( + 1.250 = 11068 kN/m
K3~K13 = 8854 x 1/ 2 x( + 1.250 = 11068 kN/m

Kh= 1E+10  kN/m




19. INPUT DATA

; File E:W7|SHCol lum.$2k saved 2-24-02 14:13:56 in Ton-m

SYSTEM
DOF=UX,UZ,RY LENGTH=m FORCE=KN LINES=59

JOINT
1 X=0.000 Y=0.000 7=0.000
2 X=1.250 Y=0.000 7=0.000
3 X=2.500 Y=0.000 7=0.000
4 X=3.750 Y=0.000 7=0.000
5 X=5.000 Y=0.000 7=0.000
6 X=6.250 Y=0.000 7=0.000
7 X=7.500 Y=0.000 7=0.000
8 X=8.750 Y=0.000 7=0.000
9 X=10.000 Y=0.000 Z=0.000
10 X=0.000 Y=0.000 7=5.890
11 X=1.250 Y=0.000 7=5.890
12 X=2.500 Y=0.000 7=5.890
13 X=3.750 Y=0.000 7=5.890
14 X=5.000 Y=0.000 7=5.890
15 X=6.250 Y=0.000 7=5.890
16 X=7.500 Y=0.000 7=5.890
17 X=8.750 Y=0.000 7=5.890
18  X=10.000 Y=0.000 7=5.890

RESTRAINT

ADD=1 DOF=U2,R1,R3
ADD=2 DOF=U2,R1,R3
ADD=3 DOF=U2,R1,R3
ADD=4 DOF=U2,R1,R3
ADD=5 DOF=U2,R1,R3
ADD=6 DOF=U2,R1,R3
ADD=7 DOF=U2,R1,R3
ADD=8 DOF=U2,R1,R3
ADD=9 DOF=U2,R1,R3

PATTERN
NAME=DEFAULT

SPRING
ADD=1  U1=1E+10 U3=5534
ADD=9  U3=b534
ADD=2  U3=11068
ADD=8  U3=11068
ADD=3  U3=11068
ADD=4  U3=11068
ADD=5  U3=11068
ADD=6  U3=11068
ADD=7  U3=11068

MATERIAL
NAME=1FR  IDES=N
T=0 E=2.3025E+07 U=.15 A=.00001
NAME=2FR  IDES=N
T=0 E=2.3025E+07 U=.15 A=.00001
NAME=3FR  IDES=N
T=0 E=2.3025E+07 U=.15 A=.00001
NAME=STEEL IDES=S M=.798142 W=7.833413
T=0 E=2.059396E+08 U=.15 A=.00001 FY=248211.3
NAME=CONC IDES=C M=2.5 W=24.51662



T=0 E=2.3025E+07 U=.15 A=.

FRAME SECTIO

N

NAME=1 MAT=1FR WPL=69.000 A=2.7
NAME=2 MAT=2FR WPL=27.000 A=1.0
NAME=3 MAT=3FR WPL=27.000 A=1.0

FRAME

OCoO~NOOTh~hwWN —
[ N G G N oA Y R R

2
3
4
5
6
7
8
9
1

)]
)]
)]
o]
o]
)]
)]
)]

[T T T T T T TR TR TR TR (I S e o BN @) @) BN SN S I \ O By

RGN W U G G G e o @ ) I S

—_

I
| G N BN Y BN AN RN oA N G o | | 1 1 (e | L R 1
~No o h~wWND—=O

LOAD
NAME=1

SEC=1
SEC=1
SEC=1
SEC=1
SEC=1
SEC=1
SEC=1
SEC=1

NSEG=4
NSEG=4
NSEG=4
NSEG=4
NSEG=4
NSEG=4
NSEG=4
NSEG=4

ANG=0
ANG=0
ANG=0
ANG=0
ANG=0
ANG=0
ANG=0
ANG=0

SEC=3 NSEG=4 ANG=0

1 SEC=
2 SEC=
3 SEC=
4 SEC=
5 SEC=
6 SEC=
7 SEC=
8 OSEC=

2 NSEG=4
2 NSEG=4
2 NSEG=4
2 NSEG=4
2 NSEG=4
2 NSEG=4
2 NSEG=4
2 NSEG=4

TYPE=DISTRIBUTED SPAN

ADD=13
ADD=14
ADD=15
ADD=16
ADD=17
ADD=18
ADD=19
ADD=20
ADD=1
ADD=2
ADD=3
ADD=4
ADD=5
ADD=6
ADD=7
ADD=8
NAME=2

RD=0,
RD=0,
RD=0,
RD=0,
RD=0,
RD=0,
RD=0,

RD=0
RD=0,
RD=0,
RD=0,
RD=0,
RD=0,
RD=0,
RD=0,
RD=0,

—_ L

O T W G G U G G

TYPE=DISTRIBUTED SPAN

ADD=13
ADD=14
ADD=15
ADD=16
ADD=17
ADD=18
ADD=19
ADD=20
ADD=1
ADD=2
ADD=3
ADD=4
ADD=5
ADD=6

RD=0
RD=0
RD=0
RD=0
RD=0
RD=0

5

5

5

5

5

,1 UZ=585.
1 UZ=585.
1 UZ=585.
1 UZ=585.
1 UZ=585.
1 UZ=585.

y
,13 SEC=3 NSEG=4 ANG=0
,15 SEC=3 NSEG=4 ANG=0
,17 SEC=3 NSEG=4 ANG=0

ANG=
ANG=
ANG=
ANG=
ANG=
ANG=
ANG=
ANG=

UZ=-806.480,
UZ=-806. 480,
UZ=-806.480,
UZ=-806.480,
UZ=-806.480,
UZ=-806.480,
UZ=-806.480,
UZ=-806.480,
Uz=785.
Uz=785.
Uz=785.
Uz=785.
Uz=785.
Uz=785.
Uz=785.
Uz=785.

920,
920,
920,
920,
920,
920,
920,
920,

1 UZ=-584.810,
1 UZ=-584.810,
1 UZ=-584.810,
.1 UzZ=-584.810,
1 UZ=-584.810,
1 UzZ=-584.810,
1 UZ=-584.810,
1 UZ=-584.810

900,
900,
900,
900,
900,
900,

0
0
0
0
0
0
0
0

-806.
-806.
-806.
-806.
-806.
-806.
-806.
-806.
785.
785.
785.
785.
785.
785.
785.
785.

920
920
920
920
920
920
920
920

-584.
-584.
-584.
-584.
-584.
-584.
-584.
-584.

585.900

585.
585.
585.
585.
585.

900
900
900
900
900

480
480
480
480
480
480
480
480

810
810
810
810
810
810
810
810

.216700,0
.129600,0
.129600,0

> > >
g
O OO
[N N

—_

—_



ADD=7
ADD=8

RD=0,1 UZ=585.900, 585.900
RD=0,1 UZ=585.900, 585.900
COMBO
NAME=COMBO1
LOAD=1 SF=1
NAME=COMBO2
LOAD=2 SF=1

END



20. |4 & 1}

20.1 OUTPUT DATA

FRAME
FRAME

ELEME
LOAD LOC

COMBO2

NT

FORCES
P V2
0.00 -12.67
0.00 -258.27
0.00 -503.87
0.00 -749.47
0.00 -995.07
0.00 .077E-01
0.00 -182.29
0.00 -365.38
0.00 -548.47
0.00 -731.57
-13.61 1063.43
-13.61 817.83
-13.61 572.23
-13.61 326.63
-13.61 81.03
-9.98 780.94
-9.98 597.85
-9.98 414.75
-9.98 231.66
-9.98 48.57
-13.61 55.28
-13.61 -190.32
-13.61 -435.92
-13.61 -681.52
-13.61 -927 .12

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

V3

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

OO OO O

M2

42,
161.
357.
629.

28.
113.
256.
456.

641.
347.
130.

-73.
465.
250.

91.

-52.

M3



.46
.46
.46
.46
.46

.01
.01
.01
.01
.01

.46
.46
.46
.46
.46

.01
.01
.01
.01
.01

49.90
-133.20
-316.29
-499.39
-682.48

995. 31
749.71
504 .11
258.51

12.91

731.73
548 .64
365.55
182.45

.413E-01

-12.91
-258.51
-504.11
-749.71
-995.31

.413E-01

-182.45
-365.55
-548.64
-731.73

927.12
681.52
435.92
190.32
-55.28

682.48
499.39
316.29
133.20
-49.90

-81.03
-326.63
-572.23
-817.83
1063.43

-48.57
-231.66
-414.75
-597.85
-780.94

995.07
749 .47

[ Ne)

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

eoNoNoNoNo)

[ Ne)

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

eoNoNoNoNe)

eoNoNeNoNo) [oNeNeoNoNo] [oNeNeoNoNo]

[ Ne)

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

.00

00
00
00
00

00
00
00
00
00

.00
.00
.00
.00
.00

.00
.00
.00
.00
.00

.00
.00
.00
.00
.00

.00
.00

-52.
-39.
.43
157.
342.

460.
188.
.62
-126.
-169.

335.
135.
.64
-93.
.67

-121

-169.
-126.
.62
188.
460.

-121

471

342.
157.

30.
-39.
-52.

-73.
-10.
130.
347 .
.58

641

-52.
.03
.97
250.
465.

o1

629.
357.

82
80

88

95
29

77
18

26
20

27

18
77

29
95

.67
-93.
.64
135.
335.

27

20
26

.19
219.

45.
-52.
-73.

84
24
61
7

55

43
80
82

71
01
44
64

82

19
63

84
26



10

10

11

11

12

12

COMBO1

COMBO2

COMBO1

COMBO2

COMBO1

COMBO2

COMBO1

COMBO2

abrN—=2O ahrN—=2O

OORrN—=O

abhN—=2O ahrN—=2O

abhN—=2O

00
47
95
.42
89

00
.47
95
.42
89

00
.47
.95
.42
.89

.00
47
.95
.42
.89

.00
A7
.95
.42
.89

.00
A7
.95
.42
.89

-2084.
-2084.
-2084.
-2084.
-2084.

1511
1511
~1511
1511
~1511

-1948.
-1948.
-1948.
-1948.
-1948.

~1412.
~1412.
~1412.
~1412.
-1412.

-1948.
-1948.
-1948.
-1948.
-1948.

-1412.
-1412.
-1412.
-1412.
-1412.

-2084.
-2084.
-2084.
-2084.
-2084.

1511
1511
1511
1511
1511

[N e Ne]

[oNeNeoNoNo]

15
15
15
15
15

.10
.10
.10
.10
.10

25
25
25
25
25

94
94
94
94
94

25
25
25
25
25

94
94
94
94
94

15
15
15
15
15

.10
.10
.10
.10
.10

503.87
258.27
12.67

731.57
548 .47
365.38
182.29
-8.077E-01

13.61
13.61
13.61
13.61
13.61

-4.15
-4.15
-4.15
-4.15
-4.15

-2.97
-2.97
-2.97
-2.97
-2.97

-13.61
-13.61
-13.61
-13.61
-13.61

-9.98
-9.98
-9.98
-9.98
-9.98

eoNoNoNoNo)

[eoNoleoNoNo)

[N e N

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

.00
.00
.00
.00
.00

.00
.00
.00
.00
.00

eoNoNoNoNo)

[eoNoloNoNo)

[N e N

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

.00
.00
.00
.00
.00

.00
.00
.00
.00
.00

eoNoNoNoNo)

[eoNoloNoNo)

[N e N

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

.00
.00
.00
.00
.00

.00
.00
.00
.00
.00

161.
42,

456.
256.
113.

28.

11

11

.74
.30
-28.
-48.
-68.

34
38
42

.90
.79
-20.
-35.
-49.

48
17
86

.24
A2
.99
11
.23

.29
.92
.45
.82
.19

.24
A2
.99
11
.23

.29
.92
.45
.82
.19

.74
.30
28.
48.
68.

34
38
42

.90
.79
20.
35.
49.

48
17
86



13

13

14

14

15

15

16

16

17

17

13.
13.
13.
.61
13.

~N NN~ © © © © ©

© O © © O

~

[oNeNeoNoNo]

[oNeNeoNoNo]

© O © © O

61
61
61

61

98
98
98
98
98

.61
.61
.61
.61
.61

98
98
98
98
98

.46
.46
.46
.46
.46

.01
.01
.01
.01
.01

.46
.46
.46
.46
.46

.01

731

-1076.
-824.
-572.
-319.

-67.

-780.
-597.
-414.
-231.

-49.

-67.
184.
436.
688.
940.

-49.
133.
316.
499.
.93

681

-1008.
-756.
-504.
-252.

.00

-731

-548.
-365.
-182.
.00

.00
252,
504.
756.

1008.

02
05

10

.00
182.
365.
548.
.01

75
51
26

95

10
13
15

08
67
43
18

10
08

02

.01

26
51
75

.00
252.
504.
756.

1008.

02
05
08
10

.00

eoNoloNoNo)

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNoNoNo]

.00
.00
.00
.00
.00

.00

eoNoloNoNe)

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNe]

[oNeNoNoNo]

.00
.00
.00
.00
.00

.00

eoNoloNoNo)

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNoNoNo]

.00
.00
.00
.00
.00

.00

-561

—-264.
-46.
92.
163.

-407.
.80
-33.

67.
.21

-191

111

163.
135.
.31
-137.
a7

-391
111

-406.
-130.
.54
184.
224.

—-294.
-94.
48.
133.
162.

224.
184.
66.
-130.
-406.

162.

.00

-39.
-157.
-354.
-630.

52
4
06

.00
-28.
-114.
257 .
-456.

22
00

.64

75
63
74
36

02

32

36
21

35

.21
97.
27.

-99.

—-284.

99

77
32

00

68

51
62
15
82
37

06
68
54
35
00

37



18

18

19

19

20

20

~ ~ N~

13.
13.
13.

13.

© © © © O

[oNeNeoNoNo]

[oNeNeoNoNo]

.01
.01
.01
.01

182.
365.
548.
.01

731

-940.
-688.
-436.
-184.

67.

-681

-499.
-316.
-133.

49.

67.
319.
572.
824.

1076.

49.
231.
414,
597.
780.

1008.
-756.
-504.
-252.
.00

-731

-548.
-365.
-182.
.00

75
51
26

15
13
10
08

.93

18
43
67
08

10
08

02

.01

26
51
75

[oNeNeoNoNo] [oNeNoNe)

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo] [oNeNoNe)

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNe]

[oNeNeoNoNo] [oNeNoNo)

[oNeNeoNoNo]

[oNeNeoNoNo]

[oNeNoNoNo]

[oNeNeoNoNo]

[oNeNeoNoNo]

133.
48.
-94.
-294.

-391

-137.
38.
135.
163.

—-284.
-99.
27.
97.
.21

111

163.
92.
-46.
—-264.
.64

-561
111

-630.
-354.
-157.

-39.

-456.
257 .
-114.
-28.

82
15
62
51

a7

35
31
21
36

32
77
66

36
74
63
75

.21
67.
-33.
-191.
-407.

32
69

02
06
4
52
38
88

22
56
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20.3 OUTPUT

SctstSol of ek o £hH

23} 20t

= B DM E ek
=t 224.06 0
MARseE
SES -630.06 1076.05
=t -169.18 0
stE&ei=
SES 629.84 1063.43




21. HH E2EHEE
[ 2H2E  4RAN-FYL ]

F———Db = 900.0 mm ————

100.00 mm
100.00 mm

| |
T 1 T fck = 24 MPa, fy = 300 MPa
| | |
| As' = 3212.0 mm? | | k1 =0.85 &f =0.85, ®ov =0.80
| 5.0-D29 | |
| | | OIZtI[= = 100.0 mm, Y=I = =
| | | OIZE=Al =100.0 mm, YU=EZA =
| | |
| | 100.0 mm
| | ( 200.0 mm)
| | |
| | | * M7 st&
| 5.0-D25 | | - BHE = 224 060 kN.m
| As = 2533.5 mm? | | - MEek = 0.000 kN
| | —L
L |
« HZdH HE (58X =8.0mm : §FSHEZ FA|)

-p = 2533.5 / ( 900.0 x 1100.0) = 0.00256

- p' = 3212.0 / ( 900.0 x 1100.0) = 0.00324

- pb = 0.85 x fck x K1 / fy x 600 / (600 + fy) = 0.03853

- pmax = 0.75 x pb = 0.02890

- pmin @ 14 / fy = 0.00467

0.80 « fck / fy = 0.00408 omin = 0.00467 X &
pmax = puse, As = As(req) x 4/3 — EZH| 2t&x, . 0K (.M 6.3.2)

ol thet 2 &

Mn = 2533.5 x 300 x (1100.
; a= 2533.5 x 300
®Mn = 0.85 x 820.323

697.275 kKN.m = 224.0

0 - 41.4/2) =820.3

/ (0.85 x 24 x 900.00) = 41.4

60 kN.m [eHMg @ 3.11] 0K



Jf
e
ru

2 ARAH-REE ]

——b =900.0 mm ———

100.00 mm
100.00 mm

| |
T 1 T fck = 24 MPa, fy = 300 MPa
T R
| As' = 2533.5 mm? | | ki1 =0.85 of =0.85, ®ov =0.80
| 5.0-D25 | |
| | | OIFT = = 100.0 mm, QIEI;= =
| | | OIZFEAl = 100.0 mm, A=EZA =
| | |
| | d=1100.0 mm
| | (H=1200.0 mm)
| | |
| | | * M7 st&
| 5.0-D29 | | - BHE = 630.060 KN.m
| As = 3212.0 mm? | | - Mk = 1076.050 kN
| | —L
L |

HIH| H4E (2% =8.2mm : FEHZ FAl)

- P 3212.0 / ( 900.0 x 1100.0) = 0.00324

-p' = 2533.5 / ( 900.0 x 1100.0) = 0.00256

- pb = 0.85x fck x K1 / fy x 600 / (600 + fy) = 0.03853

- pmax = 0.75 x pb = 0.02890

- pmin @ 14 / fy = 0.00467

0.80 + fck / fy = 0.00408 , pomin = 0.00467 M &
pmax = puse, As = As(req) x 4/3 — EZH| 9t&F, . 0K (.M 6.3.2)

ol thet 4 &

Mn = 3212.0 x 300 x (1100.0 - 52.5/2) = 1034.7

; a= 3212.0 x 300 / (0.85 x 24 x 900.00) = 52.5

0.85 x 1034.673
879.472 kN.m = 630.060 kN.m [2tME @ 1.40] S 0K

dMn



[

HN

*

2 5

WEPIEEEER

che 3 2 AATHE

B (mm) d (mm)

Vu(kN)

fck(MPa)

fy(MPa)

900.0 1100.0

1076.050

24.000

300.000

Nfck / 3 xbxd

Nfck x b xd
v 24 x 900.00 x
076.050 kN) , MEtEZ

< < Hl

m < d/5 EE&= 400 mm
D19 - 4.0 EA (=1146.000 mm? )

.000 mMm2 ) =

— Vs

A Hetdx
oVn = @

x (Ss + Sc) = 0.80 x
= 1086.

729 kN = Vu(= 1076.050 kN)

1100.00 =

=

X V24 / 3 x900.00 x 1100.00
kN = Vu(= 1076.050 kN)

0K

646.665 kN

| ©
S,

~ 0K
> 0.0015 x b x s (=168.7

0K

0.0025 x b x sh (=0.000 mm?

(550.080 + 808.332)

~0.K

50 mm?2

)

)

“0.K

[Av/s x (1+Ln/d)/12 + Avh/sh x (11-Ln/d)/12 ] x fy x d = 550.080 kN

~0.K



[ =&

28 HRAN-ZYR ]

F—— b =1400.0 mm —

100.00 mm
150.00 mm

| |
T 1 T fck = 24 MPa, fy = 300 MPa
T |
| As' = 6193.6 mm? | | ki1 =0.85 of =0.85, ®ov =0.80
| 8.0-D22 | |
| 8.0-D22 | | OIZIE = =100.0 mm, U=FI S =
| | | OIZFEAl = 150.0 mm, A=EZA =
| | |
| | d=2150.0 mm
| | (H = 2300.0 mm)
| | |
| | | * MA o=
| 8.0-D22 | | - BHIE = 169.180 kN.m
| As = 6193.6 mm? | | - Mo = 0.000 kN
| | —L
L |

HZH H4E (SEF =11.8m : &FEZ FAl)

- p = 6193.6 / (1400.0 x 2150.0) = 0.00206

-p' = 6193.6 / (1400.0 x 2150. 0) = 0.00206

- pb = 0.85x fck x K1 / fy x 600 / (600 + fy) = 0.03853

- pmax = 0.75 x pb = 0.02890

- pmin : 14 / fy = 0.00467

0.80 + fck / fy = 0.00408 , pomin = 0.00467 M &
pmax = puse, As = As(req) x 4/3 — EZH| ot - 0K (.M 6.3.2)

ol thet 4&

Mn = 6193.6 x 300 x (2150.0 - 65.1/2) = 3934.4

; a= 6193.6 x 300 / (0.85 x 24 x 1400.00) = 65.1

0.85 x 3934.430
3344.265 kN.m = 169.180 kN.m [StH & : 19.77] < 0.K

dMn



[ =

x~
=

=22 @ SHEAN-XHEE

F—— b =1400.0 mm —

100.00 mm
150.00 mm

| |
T 1 T fck = 24 MPa, fy = 300 MPa
I
| As' = 6193.6 mm? | | ki1 =0.85 of =0.85, ®ov =0.80
| 8.0-D22 | |
| 8.0-D22 | | OIZIE = =100.0 mm, U=FI S =
| | | OIZF=Al = 150.0 mm, YU==Al =
| | |
| | d=2150.0 mm
| | (H = 2300.0 mm)
| | |
| | | « M7 BtE
| 8.0-D22 | | - BHE = 629.840 kN.m
| As = 6193.6 mm? | | - Mk = 1063.430 kN
| | —L
L |
» HBZH AE (SE= =11.8mmn : Y=EHZ 2A|)
- P = 6193.6 / (1400.0 x 2150.0) = 0.00206
-p' = 6193.6 / (1400.0 x 2150. 0) = 0.00206
- pb = 0.85x fck x K1 / fy x 600 / (600 + fy) = 0.03853
- pmax = 0.75 x pb = 0.02890
- pmin @ 14 / fy = 0.00467
0.80 + fck / fy = 0.00408 , pomin = 0.00467 M &
pmax = puse, As = As(req) x 4/3 — EZH| 2, . 0K (2.4 6.3.2)
» 20 et AE
Mn = 6193.6 x 300 x (2150.0 - 65.1/2) = 3934 .4
; a= 6193.6 x 300 / (0.85 x 24 x 1400.00) = 65.1
dMn = 0.85 x 3934.430
= 3344.265 kN.m = 629.840 kN.m [ & : 5.31] S 0.K
2 sHREAHH-XHEE
CHEA 2 2 MAHIIY
I T T T | T 1
| B(mm) | Ln(mm) | d (mm) |  Vu(kN) | fck(MPa) |  fy(MPa) |
| | | | | | |
I I I I | I 1
| 1400.0 | 1300.0 | 2150.0 | 1063.430 | 24.000 | 300.000 |
L | | | | | |
* ZHMEZE HAE
®dMax Vn = & x 2 x v fck / 3 x b x d
=0.80 x 2 x ¥24 / 3 x 1400.00 x 2150.00
= 7864.495 kN = Vu(= 1063.430 kN) S 0.K

232 EQ9| MMEZUE
®Vc =0.80 x 1/6 x Y fck x b x d
0.80 x 1/6 x 24 x 1400.00 x 2150.00 = 1966.124 kN
> Vu (= 1063.430 kN) , MEtEZd EZ Q.
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22.2 =Y A

4.500
0.500 | 4.000
! a
| | !
| : | A = 50 CM S
1 . B
I \ 1 : -1
- 1
| 1
- 1
! :
| ' S
: ! <
! - = S
| ! i)
| ‘ ©
: s
| 1
- 1
| I
|
1) Md A=A
X = ™ 5= : q = 10.000  kNf/m
SIEN s - y = 19.000  kNf/m3
W = o} & 2t : o = 30.00
oA EAAF Ko =(1 - sino) = 0.500
2) thed g A A
(1) "A" T2t
SD=1/2- yt KO- {L13/(3-n?) + L1%n-(H1 + a/yt) + L1 -Hl - (H +2-a/yt)}
= 1/2x 19.0 X 0.500 X { 4.000 @ /o 3 x 0.500 2 ) +  4.000 2
/  0.500 x 1.500 + 10.000 / 19.0 ) +  4.000
X 1.500 X ( 1.500 + 2 X 10.0 / 19.0 ) } = 786.083  kNf
MD =1/2- yt-KO-{L1%(12-n?) + L13/(3-n) - (H1 + g/yt) +L12-H1/2-(H1 +2g9/yt)}
= 1/2 x 19.0 X 0.500 X { 4.000 * /o 12 x 0.500 2 ) o+ 4.000 °
/(3 X 0.500 ) x 1.500  + 10.0 / 19.0 )
+ 4.000 2 x 150 / 2 x ( 1.500 + 2 X 10.0 / 19.0 ) }

= 961.500 KNf - m



(2) "B" 7t

SA=1/2- yt KO- (H2 + 2gH/y t) - L2
= 1 /2 X 19.0 X 0.500 x| 10.000

X 10.0 X 10.000 / 19.0 ) X 0.500
MA =1/4- yt KO- (H2 +2qH/yt) -L2 2

= 1 / 4 X 19.0 X 0.500 X ( 10.000

X 10.0 X 10.000 / 19.0 ) X 0.500

1.8 X ( 786.083

I
-
©
—
(%)
S
+
%2
b
~
=
I

Su

188.745 kNf/m

Mu=1.8-(MD + MA + SD-L2)/H

= 1.8 x| 961.500 + 65.625 + 786.083

255.630 kNf/m

+

X

2

262.500 kNf

262.500

0.500

)

KNT -

)

/

/

10.000

10.000



25 7= ]

HAH e 2 AATHE
K =24 MPa, fy = 300 MPa, k1 =10.85, &f =0.85, ®v =0.75

I I I I [ |
B(m | H@m | d@mm | Z=(mm) | Mu (kN.m) |  Vu (kN) |
| | | | | |
| | | | | |
1000.0 | 500.0 | 400.0 | 100.0 | 8.690 | 9.980 |
| | | | | |
LA 2 AMH
Mu/ ®© =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) @
A@E Al®o| CHe st o|xtHHA o2 AsE FSiCt
fy 2 Mu
As? - fy x d x As + = 0, As = 85.330 mm?
2x 0.8 x fck xb )
A2 22 = 954.0 mm? (AHZEZA! : 100.0 mm) , [AIRE = 11.181]
1k : D19 - 3.3 EA (= 954.0 mm? )
x—l_:L|:|| I7:—IIE
omin @ 1.4/ fy = 0.00467
0.25 + fck / fy = 0.00408 , pomin = 0.00467 H&
TE2EHE 2| = 0.00200
pmax = 0.75 x Pb = 0.75 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02890
puse = As / bd = 0.00239
pmax = puse, As = As(req) x 4/3 — EHZH 2HF, . 0K (2.4 6.3.2)

2ol tist 2E
®Mn = 0.85 x 954.045 x 300 x (400.00 - a/2) = 95.606 kN.m
;a=As x fy / (0.85 x fck x b) = 14.030 mm

> Mu (= 8.690 kN.m) .+ 0.K [CFME 11.002]

Mcotof| st ZE (d = 400.00 mm)
®Ve =0.75 x 1/6 x V fck x b x d

0.75 x 1/6 x v 24 x 1000.00 x 400.00 = 261.279 kN
> Vu (= 9.980 kN) , MctEZH 2.



CHETE g ]

» CHHEA el 3 dAHIIY
fck =24 MPa, fy = 300 MPa, ki1 =0.85 o&f =0.85, ®&v =0.75
| I I I I | 1
| B (mm) | H(m [ d(m | =) | Mu(kN.m) | Vu (kN) |
| | | | | | |
I I I I I | 1
| 1000.0 | 500.0 | 400.0 | 100.0 | 255.630 | 188.745 |
L | | | | | |
» EAEAZ MY
Mu/ ® =As x fy x (d - a/2) ®
a=As x fy / (0.85 x fck x b) @
A@E Ao CHestod o|xtHHA o2 AsE FSiCt
fy 2 Mu
As? - fy x d x As + = 0, As = 2633.682 mm?
2 x 0.8 x fck xb )

ArEE 2 = 3379.7 mm?

1Eh 1 D25 - 6.7

SHHE
.85
X

S
Mu (= 255.630 kN.

(
EA

m)

HaEA

(= 3379.7 mm? )

0.00467
0.00408
0.00200

se = pmin — AZd| Tt

~0.K

Mcotof| st ZE (d = 400.00 mm)
®Ve =0.75 x 1/6 x Vfck x b x d
0.75 x 1/6 x + 24 x 1000.00 x
Vu (= 188.745 kN)

=

MeteEZ

©100.0 mm) , [AMEE = 1.283]

=
=

omin = 0.00467 M &

=
75 x Pb =0.75 x k1 x &x (fck / fy) x
/ bd = 0.00845
u

~0.K

{600 / (600 + fy)} = 0.02890

X 3379.689 x 300 x (400.00 - a/2) = 323.311 kN.m
fy / (0.85 x fck x b) = 49.701 mm

[eotXME 1.265]



23. XX HE

23.1 X&te| I EBHAKX X : Terzaghid At

Qu = a cNc+qgNg+ B r1B"Nr
Qu : BtEQ HAS D48t Xete] =8&HXI X (kN)
c o Xegtol H=tad (kN/m? )
q A THOHES (kN/m? ), g = r2 x Df
ri,r2 N XXEE L 24X 80| S S 2F(KN/m® )
B Jlz=2 Z(m) =B
Df JIxo 8522 20I(m)
a, B JIZ=9 SHAHZS
Nc,Ng,Nr XX HZ ( Ne =31.620, Ng = 17.810, Nr = 13.700 )
¢ = 15.000 kN/m?® , r1= 19.000 KN/m® , r2= 19.000 KkN/m®
Df = 1.200 m B = 10.900 m q = 9.600 KN/m?
Qu = 1.0 X 1.50 X 31.620 + 0.960 X 17.810
+ 0.50 X 0.80 X 10.90 X 13.700 124.3 ton/m?2
“Qa=Q /3=1,243.00/ 3 = 414.333 KkN/m?
232 2 = E U H
1) meted ShHE
A—IE ‘
] / 8
Zeirl = o)
8
()]
S
o) N
900 9.750 1.400
\ \
12.050




(1) XF= : (12.050 x 7.640 - 9.750 x 5.740) x 25 = 902.425  kN/m
(2) AFEHE © 1.500 x 19.0 x 12.050 = 343.425  kN/m
(3) ZZESHE : 4.600 x 9.750 = 44 850 kN/m
(4) XIZFEHSEES © 96.00 x 4EA = 384.000  KN/m
| = 1674.700  KkN/m

xg4tad(Q) = 1674.700  / 12.050 = 138.979  kN/m'
s ga=414.333 kN/m > =+242(Q) = 138.979 kN/m* 0.K
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